KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

THRET(AF)a—K ITHET(KF)8  #HEH O 1M 2m 3 4® 5S% 6 7m 8 9

10 tHHT 156 2 0 2 0 2 3 3 1 4 4
20 fE&LET 159 2 0 3 1 6 3 5 3 6 2
30 @M 230 1 2 3 1 5 0 3 5 2 2
40 SRET 101 0 0 0 0 0 0 1 1 0 1
50 KET—T B 283 0 0 3 3 5 0 2 1 2 2
60 KET=TH 217 0 1 3 2 1 4 1 6 3 2
70 RET=TH 327 2 2 0 4 3 6 3 3 2 7
80 AT IEHET 83 0 1 4 1 1 3 2 1 0 2
90 PN I ET 198 1 2 2 1 3 2 3 3 2 3
100 b ALET 113 0 0 1 0 1 2 1 2 2 1
110 T HT 1127 23 20 13 28 24 19 26 24 26 26
120 ¥A;TAHT 197 4 2 3 9 5 2 4 5 5 5
130 ¥ FHT 380 8 7 2 4 4 4 6 6 3 7
140 EH[E M7 12 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 312 4 3 3 2 7 7 9 5 3 5
9999 KB XEt 3895 47 40 42 56 67 55 69 66 60 69
510 AETHT B 412 4 2 4 4 3 2 4 4 2 6
520 HpEEMT 117 2 7 2 3 1 1 5 2 5 1
530 /\fEHET 223 1 1 1 2 0 0 2 1 0 2
540 15 HT 382 1 3 1 2 3 2 3 6 4 2
550 FithET 331 2 0 4 2 0 3 5 2 4 8
560 = ZLHT 80 0 0 0 0 0 0 0 0 0 0
570 & EHT 61 0 1 1 3 0 2 4 0 3 1
580 #rBHET 164 4 1 0 1 0 2 0 2 1 2
590 #7;EHT 69 0 1 0 0 0 0 1 1 0 1
600 ZEARET 521 5 8 0 6 7 8 8 9 13 10
610 JEHT 179 0 0 1 4 1 3 1 3 2 5
630 ¥TERTZTH 5 0 0 0 0 0 0 0 0 0 0
9999 /\ & X5t 2544 19 24 14 27 15 23 33 30 34 38
1010 R HT 167 3 1 0 2 2 0 5 0 2 3
1020 k£ A HT 283 7 4 4 7 10 5 4 12 7 7
1030 b /T HT 274 8 3 10 8 8 9 8 7 12 7
1040 &5 HT 462 13 9 13 7 11 12 7 17 11 12
1050 £ FHHET 620 16 10 16 9 13 10 14 16 7 14
1060 F _EHT 543 14 11 13 18 17 18 18 15 9 16
1070 YR HET 658 17 11 9 9 13 14 9 15 12 11
1080 & HHET 383 6 13 4 9 3 8 8 3 9 7
1090 BiEHT 513 7 4 8 7 9 12 6 15 7 12
1100 L BEHT 542 13 9 14 8 16 16 15 10 14 20
1110 $Z1EHET 146 3 1 2 2 0 4 1 4 7 7
1120 #21E JTHT 78 0 0 1 1 0 0 0 0 2 2
1130 +4&HT 23 0 0 0 0 1 1 2 1 0 0
1140 FkJR=HET 16 0 0 1 0 1 0 1 0 0 0
1150 #JRET—TH 175 0 0 2 1 0 2 1 4 2 2
1160 #/RET—T B 223 1 2 0 3 3 2 2 2 4 5
1170 ;5 /KHET 164 2 0 1 0 2 0 1 2 2 0
1180 EE&FLHET 207 0 3 0 2 1 3 4 2 3 5
1190 ¥ F AHET 181 5 2 6 1 3 6 2 2 4 2
1200 XFHEI—TH 128 0 0 0 2 1 2 1 1 1 2
1210 XFHEIZTH 196 1 0 2 3 1 2 3 3 2 4
1220 $HT 151 1 1 0 2 1 1 0 0 1 2
1230 #EHET 160 0 0 0 2 1 1 3 1 2 4
1240 ZEHT 136 2 0 0 1 1 1 3 2 2 2
1250 fEERT 152 3 1 3 2 2 2 2 0 2 0
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1260 ABEFR 3@ 43 0 0 1 1 1 2 0 1 0 1
1270 EEHT 157 2 2 2 1 2 2 0 0 0 1
1280 ARAHET 165 1 0 1 1 0 1 0 1 1 3
1290 £RHT 201 2 0 1 2 1 0 2 5 1 5
1300 % ZEHT 149 0 1 1 1 2 1 0 3 1 1
1310 RJLHT 77 1 0 1 2 1 0 1 0 0 0
9999 XHEMX &t 7373 128 88 116 114 127 137 123 144 127 157
1510 #EHN BT 628 8 10 10 8 10 12 15 11 18 11
1520 }EHD T ET 619 2 4 5 5 6 7 7 10 9 8
1530 HEHNSTHT 315 4 4 7 4 6 4 10 5 2 9
1540 K123FHT 533 3 7 6 7 9 9 8 6 4 7
9999 HEMNI X ET 2095 17 25 28 24 31 32 40 32 33 35
2010 £ E AT 194 0 2 2 4 3 3 4 3 2 4
2020 %= E7aHET 276 4 3 2 1 0 8 10 9 8 10
2030 ET 20 0 1 0 0 0 0 0 0 0 1
2040 HMEBET—T B 196 2 0 5 3 2 5 0 2 3 5
2050 ;MET=T H 189 0 3 0 1 4 3 4 4 2 1
2060 ¥5 i HET 35 0 0 0 0 0 0 0 0 0 0
2070 +RET—TH 224 1 2 3 5 3 5 10 8 7 10
2080 +RETZ_TH 184 4 1 3 3 1 4 2 1 0 5
2090 wy g ET 1550 12 17 19 12 18 16 21 27 23 27
2100 HibHET 220 3 6 0 3 6 5 2 3 6 7
2110 HEMNETET—T B 213 3 8 3 5 3 8 4 5 5 7
2120 HEWIETET—T B 241 4 2 9 2 5 8 4 7 8 7
9999 £ ERXET 3542 33 45 46 39 45 65 61 69 64 84
2510 $AUEHET 1904 24 34 39 38 26 39 37 46 45 42
2520 SKEEHT 1186 12 21 23 21 19 29 35 30 30 39
2530 = /INERET 387 12 9 9 17 11 6 10 9 4 5
2540 Fi5HET 444 2 3 6 2 5 6 5 7 6 6
2550 ;HET 225 3 1 5 3 2 4 0 4 2 7
2560 = ST 879 10 11 9 12 16 13 17 12 14 17
2570 X &HT 80 0 0 0 1 0 0 1 0 1 1
9999 MAE X5 5105 63 79 91 94 79 97 105 108 102 117
3010 KATHT 932 9 12 15 13 15 15 17 15 11 14
3020 ;@I HT 896 13 10 24 13 20 8 15 25 15 17
3030 L EFET 699 9 6 17 11 9 23 13 20 20 16
3040 B _EAT 154 2 2 0 0 2 1 1 2 4 4
3050 wy BRI A AT 2130 58 53 53 45 48 56 64 46 53 52
3060 A ESTET 476 2 6 6 3 5 7 2 8 5 5
3070 tHBREHT 438 2 2 5 7 7 6 6 9 6 8
3080 H AT 365 8 4 7 11 8 14 8 20 12 14
3090 FH R ERAT 386 4 8 13 9 10 5 10 13 16 11
3100 H e FGHET 501 8 3 9 8 11 9 9 7 12 11
3110 HepiLET 421 4 2 2 9 4 5 8 9 6 2
9999 J\ T X &t 7398 119 108 151 129 139 149 153 174 160 154
3510 £ R _EHT 174 0 0 1 1 3 1 2 3 0 1
3520 2 R AT 343 3 4 5 2 5 4 8 2 2 10
3530 2R THT 906 14 14 20 16 17 16 25 22 23 22
3540 Z= B KHT 319 3 4 5 1 6 3 3 1 3 2
3550 AEFHT 752 8 7 9 13 13 8 16 6 15 9
3560 &= T ERAT 269 2 5 2 2 3 1 1 2 1 1
3570 = T AT 809 10 16 15 13 11 16 9 13 13 14
3580 LI HET 545 7 9 5 7 4 9 5 8 12 5
3590 ;EMT 17 0 0 0 0 0 0 1 0 0 0
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9999 S HKXET 4134 47 59 62 55 62 58 70 57 69 64
4010 41| NET 302 4 1 1 1 1 2 2 5 4 2
4020 {ESHT 76 0 0 0 1 1 2 2 0 2 0
4030 i5HT 189 3 0 1 4 4 0 2 2 3 3
4040 S HEAHT 170 1 3 4 3 4 3 3 2 4 4
4050 7K SHT 385 4 2 2 3 4 3 10 4 5 10
4060 ESZ HAT 337 4 4 6 5 4 6 6 6 4 7
4070 Jt/RHET 154 0 4 0 2 1 4 5 3 1 2
4080 =;T;HAMT 174 2 0 4 2 3 1 4 5 6 4
4090 FRERHT 270 1 3 2 3 4 4 5 3 3 6
4100 FgFEFOET 109 1 2 2 0 4 2 2 4 2 1
4110 JbFFOET 114 1 0 1 1 1 1 1 4 3 4
9999 &M XEtT 2280 21 19 23 25 31 28 42 38 37 43
4510 EREE—ZEHT 755 6 9 6 5 3 4 3 3 5 9
4520 EREE — ZFEHT 153 3 3 4 1 1 1 1 3 1 3
4530 EREE=FKHT 184 2 1 3 2 0 4 2 6 7 5
4540 EREEIUZEHET 170 3 4 2 2 2 4 1 5 1 2
4550 AREE R HHET 110 1 0 1 1 0 0 1 1 3 0
4560 EREE/NFEHET 80 1 0 1 0 0 1 2 1 3 2
4570 EREE-C AT 117 0 1 0 1 0 2 0 2 1 2
4580 AREE/\FHET 76 0 0 0 0 1 0 1 1 2 1
4590 BEREE N ZEHT 146 1 0 2 1 1 3 3 1 0 2
4600 AR EE+ZEHT 204 1 1 2 0 0 2 0 2 0 2
4610 AREE+—ZBHT 173 1 5 1 2 3 2 2 1 2 2
4620 AR+ —FFHET 332 9 6 12 3 6 1 5 2 2 3
9999 ARERXET 2500 28 30 34 18 17 24 21 28 27 33
5010 FAF0H HERT 184 2 2 3 3 2 4 4 1 4 4
5020 FRF0BAELET 178 4 1 2 1 1 4 2 0 2 3
5030 FAFOME{—HT 187 3 3 4 1 2 2 2 2 3 2
9999 AN XET 549 9 6 9 5 5 10 8 3 9 9
5510 b R ET 202 0 2 2 3 4 3 7 5 4 5
5520 = HhET 529 3 12 6 8 12 11 11 13 14 9
5530 75 = HT 476 9 8 6 5 6 7 4 6 9 4
5540 T EERT 224 2 2 2 3 4 0 7 1 4 1
5550 ERHT 65 0 0 0 0 1 0 1 1 0 0
9999 EHhARX &t 1496 14 24 16 19 27 21 30 26 31 19
6010 FEIHET/MER 75 0 0 0 0 1 0 2 1 2 1
6020 [EHET o 92 0 1 2 1 3 0 1 1 0 2
6030 [ERTA I 86 0 0 2 0 1 0 1 0 0 2
6040 BZEFHET 180 1 3 3 2 4 1 3 4 4 6
6050 JI|EHETER 131 0 0 1 1 0 0 1 1 0 1
6060 JI|EHETF 93 4 1 4 1 4 3 1 1 3 0
9999 FEERXET 657 5 5 12 5 13 4 9 8 9 12
6510 HZEAFBHET 22 0 0 0 0 1 0 1 0 2 0
6520 B & A KIEHET 168 0 0 2 2 0 2 2 0 3 0
6530 HZEAFTHET 95 1 0 0 1 0 1 0 2 0 1
6540 BZEALLUTHT 156 0 0 2 1 1 0 0 1 2 3
6550 B =AM Z NET 84 0 1 0 0 1 0 1 1 1 1
6560 HZ=AIELHT 112 0 1 0 0 1 0 0 0 1 2
6570 H R AIEFHT 143 0 1 1 0 1 1 0 0 0 0
6580 B ZAEHRT 92 0 0 1 1 0 4 0 0 0 0
6590 HZ= ATHET 54 0 0 1 0 1 0 1 0 0 1
6600 B Z A HHT 83 0 1 0 0 0 1 2 1 1 1
6610 H&XA L FHHET 42 0 1 1 1 0 1 0 0 0 0
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6620 HZE A FGHET 42 0 1 0 0 0 0 1 1 2 1
6630 HZEA T AT 96 0 1 0 1 0 1 0 2 0 1
6640 B &= A EitlT 33 0 0 0 0 0 0 0 1 0 0
6650 B & ASRHET 1 0 0 0 0 0 0 0 0 0 0
6660 HZ=A I RLET 52 0 0 0 0 0 0 0 0 0 0
9999 HEAKRKXET 1275 1 7 8 7 6 11 8 9 12 11
7010 Z— "M O ET 142 0 0 0 3 1 1 0 2 0 3
7020 — RAHT 249 0 0 0 1 3 1 2 2 1 2
7030 — R FRHAET 91 0 2 0 0 1 1 0 0 1 1
7040 — B T KEFHT 182 0 0 0 0 0 1 1 1 1 0
7050 = R ¥y H I HET 96 0 0 0 0 0 0 0 0 0 0
9999 — R XEt 760 0 2 0 4 5 4 3 5 3 6
8011 JRAHTFEERL 55 0 0 0 0 0 1 0 0 0 0
8012 YAHTFEERA 116 0 0 1 1 0 1 0 0 1 0
8013 IR AHTFERIL 61 1 0 1 0 1 0 0 1 0 1
8021 IRAHTZEKLY 73 0 0 0 0 1 0 0 1 0 0
8022 IR AHTIEKA 4 0 0 0 0 0 0 0 0 0 0
8023 IR AHTIEKIE 6 0 0 0 0 0 0 0 0 0 0
8031 IRAHTH ALY 136 0 1 0 0 0 2 1 0 1 1
8032 {AETHAA 6 0 0 0 0 0 0 0 0 0 0
8033 IRAHTH AL 13 0 0 0 0 0 0 0 0 0 0
8041 IR AHTELIRL 61 0 0 0 0 0 0 0 0 0 0
8042 IR AHTELIRA 23 0 0 0 0 0 0 0 0 0 0
8043 IR AHTELIR L 16 0 0 0 0 0 0 0 0 0 0
8044 R AHTELIRIZ 25 0 0 0 0 0 0 0 0 0 0
8045 IR AHTALIR (X 46 0 0 0 0 0 0 0 0 0 0
8050 R AHTIRA 113 0 0 0 0 0 0 0 0 0 0
8060 IR AHTFT 99 0 0 1 1 1 1 0 0 0 0
8070 IRAHBTER 97 0 1 0 0 1 0 1 0 0 0
8080 I AHT ki 34 0 0 0 0 0 0 0 0 1 0
8090 I AHTH;EE 27 0 0 0 0 0 0 0 0 0 1
8100 Y AHETH /IR 16 0 0 0 0 0 0 0 0 0 0
8110 IRAHTJI| 5 33 0 0 0 0 0 0 0 0 0 0
8120 IR AHETEE" 63 0 0 0 0 0 0 0 0 0 0
8130 IR AHTH L 62 0 0 0 0 0 1 0 0 1 1
8140 IRABTEFERT 98 0 0 0 0 0 0 0 0 0 0
8150 IRAHTHFkK L 76 0 0 0 0 0 0 0 1 0 0
9999 AKX ET 1359 1 2 3 2 4 6 2 3 4 4
9010 FTHTKZH 535 11 7 16 10 8 10 5 11 9 9
9020 FTHTEH IR 331 11 5 8 5 8 5 6 7 4 7
9030 FTHT#HZEH 981 20 23 35 21 44 33 37 39 37 32
9040 FTHTHESH 1131 13 14 20 15 15 22 32 25 20 36
9999 F T XEt 2978 55 49 79 51 75 70 80 82 70 84
9110 SRET T Hik 474 4 9 9 6 9 11 8 5 10 12
9120 $ERTH L 234 2 3 0 2 1 3 1 3 2 4
9130 $RETH B 114 3 0 1 3 1 4 1 1 2 5
9140 SRET T+t 350 5 3 8 4 6 7 5 5 7 3
9150 $BHT L 45 450 5 7 6 9 10 15 8 9 8 10
9160 SRHETERHT 649 8 9 10 7 25 7 21 13 18 19
9170 $ERTAH 837 1 11 13 18 13 15 13 17 21 18
9180 SRHETER 545 7 4 8 5 6 12 6 9 8 8
9190 #ERTZ O 180 0 3 1 1 1 2 1 4 5 3
9200 $EHTEFIF 169 3 6 3 1 3 2 1 6 4 3
9210 $RET=H 308 5 3 1 3 6 5 6 7 2 2
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9220 $RETHH 485 9 12 10 10 12 16 11 11 15 14
9230 SxET &M 593 1 7 7 7 13 10 16 9 12 12
9240 $RHTIEE 217 1 1 1 6 3 6 5 4 4 4
9250 $EETILHrith 483 6 3 8 5 7 7 9 11 5 8
9999 fERIX &t 6088 70 81 86 87 116 122 112 114 123 125
9310 R[FHET:AR 176 1 1 1 2 1 0 2 2 0 2
9320 H[ZHETIL 189 2 1 2 2 1 4 2 0 2 3
9330 E[ZMET/NE 125 1 2 1 1 1 1 0 1 2 0
9340 R [ZHTRY 325 5 2 4 3 3 5 5 4 6 4
9999 H[G#XEt 815 9 6 8 8 6 10 9 7 10 9
9410 RET T & 290 0 1 0 4 2 3 3 2 5 4
9420 RHETHE 196 0 0 0 0 0 1 1 0 0 2
9430 RHETERK 133 0 0 0 0 0 0 0 0 0 1
9440 RETAEF 12 0 0 0 0 0 0 0 0 0 0
9450 RETHEIR 21 0 0 0 0 0 0 0 0 0 0
9460 RET{—_HE 27 0 0 0 0 0 0 0 0 0 0
9470 RETER 5 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 45 1 0 1 0 0 0 0 1 0 0
9999 RiXXEt 729 1 1 1 4 2 4 4 3 5 7
99999 H&Et 57572 687 700 829 773 872 930 982 1006 989 1080
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10 HAT
20 [ d-HT
30 JEHT
40 LRHET
50 KET—T B
60 AET=TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #¥3;THT
120 #A;TAHET
130 t&FHT
140 HEi[EET
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 2AT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
630 FERT T B
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0
9999 J\ KX &t 2 3 44 33 44 5 5 5 4 44
1010 R HT 3 0 5 0
1020 Lt K HT 5 6 6 12 6 1
1030 H1 FrHT 1 1 9 8 10 5 1 13 4
1040 75 T HT 10 12 9 11 8 12 6
1050 £ FHHET 20 1 16 13 12 16 19 11 14 12
1060 F _EHT 11 12 7 14 14 14 20 7 7
1070 YR HET 8 18 12 6 18 17 19 11 10 16
1080 & HHET 9 4 10 6 6 6 9 8 4 9
1090 BiEHT 14 10 7 10 8 17 6 6 10 7
1100 L BEHT 12 11 13 19 19 17 11 12 11 10
1110 $Z1EHET 0 3 3 2 5 0 3 1 3 1
1120 #21E JTHT 0 1 0 2 1 0 2 0 0 0
1130 +5:HT 0 1 0 0 0 0 0 0 0 0
1140 FkJR=HET 0 2 0 0 1 0 0 0 0 0
1150 #JRET—TH 4 5 0 4 1 1 1 2 4 3
1160 #/RET—T B 2 4 2 5 1 1 0 4 3 2
1170 ;5 /KHET 2 4 4 0 5 2 4 2 1 1
1180 EE&FLHET 3 4 4 2 4 3 1 4 1 3
1190 ¥ F AHET 3 1 3 2 1 3 1 2 6 3
1200 XFHEI—TH 1 1 2 1 1 3 0 1 1 1
1210 XFHEIZTH 4 1 1 3 7 4 3 4 1 4
1220 T 1 4 2 5 2 1 3 4 5 1
1230 #EHET 3 0 3 0 3 1 0 2 3 2
1240 ZEHT 3 2 1 2 5 0 3 2 1 2
1250 fEERT 2 3 1 4 1 1 2 4 3 4
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

1260 fEH & 0 0 0 0 0 0 0 1 0 0
1270 EEHT 0 0 1 0 0 1 2 1 0 0
1280 ARAHET 1 3 4 0 2 3 2 3 2 5
1290 £RHT 4 2 1 3 3 2 3 1 1 4
1300 % ZEHT 2 2 1 2 1 3 1 1 1 0
1310 RJLHT 0 0 0 1 0 1 0 2 0 0
9999 XHEMX &t 134 132 130 125 151 147 135 135 128 108
1510 #EHN BT 12 12 21 18 8 18 22 14 9 17
1520 HEHITET 12 8 10 8 12 17 14 10 14 11
1530 HEHNSTHT 3 6 7 4 5 7 4 4 3 5
1540 K123FHT 9 7 8 11 11 7 5 6 8 8
9999 HEMNI X ET 36 33 46 41 36 49 45 34 34 41
2010 EE&HT 4 6 3 5 7 5 8 2 9 2
2020 % &7 8 8 6 5 6 5 2 9 5 9
2030 ET 0 0 0 0 1 0 0 1 1 0
2040 JET—TH 5 4 3 4 5 2 5 4 4 8
2050 ;MET=T H 2 3 3 3 2 3 1 4 3 2
2060 ¥5 i HET 0 0 0 0 1 2 0 2 1 1
2070 +RET—TH 4 2 4 3 3 3 3 5 2 4
2080 +RETZ_TH 3 5 6 0 6 2 3 3 7 3
2090 wy g ET 16 32 33 29 33 28 35 29 20 23
2100 HibHET 7 2 6 4 6 8 2 3 1 3
2110 HEMNETET—T B 3 2 5 3 1 2 3 6 5 5
2120 HEWIETET—T B 7 8 8 6 9 6 3 9 3 3
9999 £ ERXET 59 72 77 62 80 66 65 77 61 63
2510 $AUEHET 50 52 58 57 66 72 57 55 65 45
2520 SKEEHT 34 36 28 39 26 30 34 28 30 31
2530 = /INERET 5 8 5 6 10 7 6 6 9 6
2540 Fi5HET 6 6 2 5 5 4 3 6 4 4
2550 ;HET 8 7 6 3 0 2 2 2 2 4
2560 = ST 9 16 26 14 22 23 15 13 15 24
2570 K EHT 2 3 0 0 3 1 6 1 2 0
9999 MAE X5 114 128 125 124 132 139 123 111 127 114
3010 KATHT 13 14 20 22 22 14 20 24 12 20
3020 ;@I HT 13 13 20 13 17 13 16 20 21 18
3030 L EFET 13 19 15 17 13 18 14 17 15 16
3040 B _EAT 1 2 2 1 0 4 1 2 2 3
3050 wy BRI A AT 45 50 44 51 44 56 54 39 50 49
3060 THESTHT 6 7 6 6 7 9 7 6 7 5
3070 tHBREHT 9 6 10 6 4 9 8 8 9 6
3080 HHHHET 11 17 17 11 7 11 10 4 10 6
3090 FH R ERAT 10 11 11 12 11 10 6 12 8 6
3100 HHFHHET 6 7 8 7 5 11 8 8 6 4
3110 HepiLET 9 3 6 8 5 10 4 7 4 8
9999 J\ T X &t 136 149 159 154 135 165 148 147 144 141
3510 £ R _EHT 4 0 2 0 2 1 0 1 3 3
3520 2R A HT 4 5 5 3 7 5 4 8 7
3530 2R THT 29 14 22 18 10 14 21 9 14 13
3540 Z= B KHT 6 5 5 8 3 7 4 7 7
3550 AEFHT 12 15 13 8 12 16 12 9 16 11
3560 &= T ERAT 6 3 3 2 4 1 7 5 6 2
3570 = T AT 10 7 9 10 12 17 6 9 10 15
3580 LI HET 7 8 7 7 3 13 13 5 5 10
3590 ;EMT 0 0 0 0 0 0 0 0 0 0
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ARET (K a—F THRET(KF)& 108 11E 12 13@ 14 15 16 17 18 19
9999 S HKXET 78 57 66 53 72 69 68
4010 B QET 3 13 8
4020 {ESHT 0
4030 15HET 3
4040 S HEAHT 3
4050 7K EHT 1 13
4060 ESZ HAT 10
4070 Jt/RHET 1
4080 =;I;HAMT
4090 FREHET
4100 FgFEFOET
4110 JbFFn@T
9999 &M XEtT 4
4510 EREE—ZEHT
4520 EREE — ZFEHT
4530 AREE=ZHT
4540 EREEIUZEHET
4550 EREE FZEHT
4560 EREE/NFEHET
4570 EREE-HZHET
4580 AREE/\FHET
4590 EREE N ZEHT
4600 AR EE+ZEHT
4610 AREE+—ZBHT
4620 EREE+ —ZHHET
9999 ARERXET 2
5010 FAF0H HEHET
5020 FAF0BAEET
5030 RRF0R]{—HET
9999 RRFIMXET
5510 b R ET
5520 = HhET
5530 74 '= M7
5540 wy ZEHET
5550 ERHT
9999 E it X &t 2
6010 FEIHET/MER
6020 [EET
6030 [ERTA I
6040 iz FHET
6050 JI| AETE
6060 JI|EHETF
9999 FEERXET 1
6510 HZEAFBHET
6520 B & A KIEHET
6530 B ZE AFHHET
6540 BZEALLUTHT
6550 B =AM Z NET
6560 HZEALEILHET
6570 H R AIEFHT
6580 B ZAEHRT
6590 HZ= ATHET
6600 B Z A HHT
6610 H&XA L FHHET

a1
»
-
S
S
»

—_
—_

—_
—“ NN OO0TTIWOOOU
w

A =0 = DNODODHLALAN—-=ID

-

O = 4— 00 —_—O0OBPRNWOOW—=—=UIO0OO0O—=NOU OO =-~JdO—-00WN==DBN—-=WONMAMNOWNNOYNWNAROION W
'S
a1
-

- W

O -2 0O —=-NNO—=SNONDBDNUIN—-WOOWWMONOOOU=NWW=-NWANO=SN=-NIALOWANDOIINITNSD
D
N
-

— O

W= = WUl = OOONOOIO WwwWwWOoow

O - 0000 = =0 =0~ —==0W—=NNOUIONINODWOONN==-N==S=ZNDNNMNWO-—=-DWADAW—-0OU®
— —

— WO OMNNMNMNIELWANUUOWN—==0I0OWOWHNAOOU = WORWORO=SN—=-WNWUINWOO®DOOHNAOUI JWW=N
O - 00O -0 - WODNROOWMNN—=-—=-=SNOUIONNON —=-W=W==W==WANWNN—=-D=2WOdDAIIDrhO—=w
— O 0O 00O = N—-WO—-=DMNDMNWWO—-=DOPAPNIN—-Jd—=WWONP - WD DEDDN—-O—= 0T OJINDNOUI—-=DNOOWWOL —
O = =4 — WWNDE-LO0OODRA—=NWNBANOONOUO—=NU = —=0—=N=-=-00WOW=OUCINO—=—==WuUul —=00~NNuuaND

I

N

ONOOONON—LTNOOON -0 - WWwwoo o, == DBOMNWWNN—=-—=O0OCOPMONDN

— 0O 00—~ W WOPPrOPLPOO - OONO—-DNO P JOOOPL—-WOO—=PNOOPM—="LLNN~AODN

O OO OO PPODO - - 0WW—-OC1I O WNMNOMNOW—-OPhMWOLOW



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

ARET (K a—F THRET(KF)& 108 11E 12 13@ 14 15 16 17 18 19
6620 HZE A FGHET
6630 HER AT FHHT
6640 B &= A EitlT
6650 HZASHET
6660 HZ=A I RLET

9999 HEARKKET 1 2 1 1 1 2
7010 Z B MO HT
7020 — ELAHT

7030 — R FR#AET
7040 — B T KEFHT
7050 — R ¥7 H I ET
9999 — R&XET
8011 JRAHTFEERL
8012 YAHTFEERA
8013 IR AHTFERIL
8021 YRAHTZEKLY
8022 IR AHTIEKA
8023 R AHTZEKIE
8031 IRAHTH ALY
8032 {AETHAA
8033 IRAHTH AL
8041 IR AHTELIRL
8042 R AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIZ
8045 IR AHTALIR (X
8050 IR AHT A
8060 IR AHTFT
8070 RAHETER
8080 I AHT ki
8090 I AHT i E
8100 Y AHETH /IR
8110 3RAHTJI| 5k
8120 IR AHETEE"
8130 JRAHTH L
8140 IRABTEFRT
8150 IRAHTHFkK L
9999 AKX ET
9010 F THTREH

—
OO OMNMNOOOOO 000000~ 00 WOOoOOoO OO U—-=-NMNNMNMNOOOOOO —~O0O

© 0O -~ 000000 0000 O0C O —~~0 0 —~00 "= =0M~MNMNOOMOOGLOOO = —=
OO0 - 0000000000000 OO —~~00OO0ON—~ONOODNM—~~WOO—~0O0
G OO~ 0~ 000 - 0000000000000 —~0D0ODWOOoOON—-~OVOOOOoOOo
O PO OO~ 000~ 000D O0DO0CDO0ODO0ODO0OO0ODO0CDO0ODODOOMNOOWMNMNOO OO OOOoOOoO
© O©W - - 0 -~ 000000~ 00000 O0CO0OO0ODOOMNMNO®WO =0l mWOOOOoOOo
— O~ 0O~ 0000~~~ O0O0N—-~ 000000000000 WVW === WWoOOOOoOOoOo

u—y

NOOW -0 - = -0~ 00 —~-~00000C00C0O0C0O0OC0O0O0O0OWOONMNMNMNO T W—=PMOOOOO

N OO OO -~ NOO -~ 0000000000000 0O —T0O0U 0 —~=-N—-00000O0
PO OO~ O~ 0000CO0O0OO0—~~000O0COO0OCOOPMNODOOO—TOPO—O—-~DNOOOO —~O0O

9020 FTHTEFEER 4 5 3 4 3 7 6
9030 FTHT#HZEH 35 31 36 36 34 32 27 34 31 34
9040 F THTHERH 17 29 30 29 22 31 27 24 19 21
9999 F T XEt 65 71 77 84 67 72 67 74 60 72
9110 SRET T Hik 11 12 13 7 9 10 9 12 7 8
9120 SFEETH L 4 1 2 0 3 4 4 5 4 6
9130 $RETH B 2 1 1 0 4 2 1 0 2 1
9140 SRET T+t 7 15 9 10 7 7 9 0 11 4
9150 $EMET L £& 9 11 12 8 11 17 6 7 4 10
9160 SRHETER4T 20 19 19 16 12 14 9 11 11 11
9170 $ERTAH 16 11 22 18 17 13 22 22 12 16
9180 SRETER 13 11 8 13 8 9 7 6 5 9
9190 #ERTZ O 7 4 6 6 4 4 6 5 1 5
9200 $EHTEFIF 2 1 3 0 1 1 0 3 5 3
9210 $EET=H 8 5 7 5 7 5 7 6 5 7



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

9220 SEMETHH 8 10 14 8 18 12 11 16 4 10
9230 SxET &M 15 15 13 14 7 9 14 11 20 15
9240 SEETIE K 6 4 4 4 6 5 4 1 5 0
9250 $EETILHrith 12 10 12 8 1 12 10 13 12 13
9999 FEXET 140 130 145 117 125 124 119 118 108 118
9310 R[FHET:AR 0 2 1 4 2 3 3 1 0 2
9320 FFHATIL 3 2 2 4 5 3 5 3 2 2
9330 H[SHET/INE 1 2 1 2 1 1 2 2 0 2
9340 R [ZHTRY 5 6 9 7 2 8 5 8 4 3
9999 H[G#XEt 9 12 13 17 10 15 15 14 6 9
9410 RET T & 2 6 4 4 5 6 4 10 1 7
9420 RHETHE 0 1 1 2 0 0 2 0 2 0
9430 RHETERK 1 0 0 0 0 1 0 1 0 0
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RETHEIR 0 0 0 0 0 0 0 0 0 0
9460 RET{—_HE 0 1 0 1 0 0 1 0 0 0
9470 RETER 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 2 0 1 1 2 0 2 1 0 1
9999 RiXXEt 5 8 6 8 7 7 9 12 3 8
99999 H&Et 1012 1060 1112 1041 1053 1125 1046 1048 995 1019



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TBET(KF)a—FK {TEET(KFE)R 208 213 22 23@m 24k 25m 26k 27@% 28 29

10 tHHT 2 4 4 1 4 2 2 3 3 5
20 fE&LET 3 4 3 1 1 2 5 4 3 2
30 @M 1 3 1 4 4 2 3 4 3 0
40 SRET 1 3 2 1 0 1 1 2 0 1
50 KET—T B 3 2 3 4 3 3 0 4 5 3
60 AET—TH 0 5 4 4 3 4 4 1 5 3
70 RET=TH 8 6 8 5 6 6 7 8 5 1
80 AT IEHET 1 0 0 1 0 0 1 0 0 0
90 PN I ET 3 2 0 5 4 6 4 3 2 4
100 b ALET 1 0 1 1 2 0 0 0 0 1
110 T HT 20 29 19 22 22 22 20 20 14 27
120 ¥A;TAHT 4 3 3 7 6 6 4 1 4 7
130 ¥ FHT 10 4 7 9 11 11 10 7 4 7
140 EAEET 1 0 1 1 1 0 0 0 1 0
150 1 FFrHET 4 6 8 6 9 3 13 5 7 8
9999 KB XEt 62 71 64 72 76 68 74 62 56 69
510 AETHT B 5 9 0 3 5 16 5 10 6 3
520 HpEEMT 3 3 3 3 1 2 4 1 3 4
530 /\F&EHET 5 2 6 4 10 4 7 2 5 4
540 15 EHT 8 15 7 5 10 8 5 6 5 5
550 FithET 4 7 6 6 5 4 4 6 6 6
560 = ZLHT 1 2 1 1 0 0 2 2 2 2
570 EEHT 1 3 1 3 1 1 1 1 1 0
580 #rBHET 1 2 3 4 3 4 2 3 2 1
590 #7;EHT 0 1 0 1 1 0 2 0 2 1
600 ZEARET 12 9 14 12 7 7 9 8 4 6
610 JEHT 2 4 1 3 4 2 5 3 3 3
630 ¥TERTZTH 0 0 0 0 0 0 0 0 0 0
9999 /\ KX &t 42 57 42 45 47 48 46 42 39 35
1010 R HT 2 4 3 2 2 3 2 6 1 3
1020 Lt HT 5 1 0 2 0 2 5 3 6 11
1030 H1 FrHT 8 7 5 2 4 6 7 4 4 2
1040 &5 HT 9 9 6 6 6 9 18 14 12 9
1050 £ FHHET 10 15 12 7 11 8 15 12 15 15
1060 F _EHT 9 8 12 11 8 13 15 13 19 15
1070 YR HET 13 14 15 20 20 15 9 20 16 14
1080 & HHET 9 12 11 18 7 7 19 12 8 17
1090 BiEHT 8 7 8 5 8 7 7 10 9 6
1100 L BEHT 11 8 8 8 8 9 9 4 13 10
1110 $Z1EHET 5 6 2 5 6 2 2 1 5 2
1120 #21E JTHT 3 1 0 1 1 1 0 0 0 1
1130 +5:HT 0 0 0 0 0 0 0 0 0 0
1140 FkJR=HET 0 0 0 0 0 0 0 0 0 0
1150 #JRET—TH 4 2 1 2 1 3 6 2 1 2
1160 FEET—TH 1 1 2 1 2 2 1 2 5 3
1170 ;5 /KHET 2 0 3 5 2 1 3 3 2 0
1180 EE&FLHET 1 4 2 1 3 3 3 3 3 3
1190 ¥ F AHET 2 2 3 2 1 2 1 3 4 4
1200 XFHEI—TH 2 4 3 3 4 2 3 3 1 2
1210 XFHEIZTH 3 6 3 8 4 5 6 3 1 3
1220 T 3 4 2 6 3 1 1 1 3 1
1230 #EHET 4 1 2 2 2 3 2 2 6 2
1240 ZEHT 4 3 0 2 3 1 0 0 4 0
1250 fEERT 4 0 2 0 1 0 3 4 1 3



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TBET(KF)a—FK {TEET(KFE)R 208 213 22 23@m 24k 25m 26k 27@% 28 29

1260 JEHR & 0 0 0 0 0 1 0 1 1 0
1270 EEHT 2 1 1 5 5 6 4 2 2 1
1280 ARAHET 5 1 2 5 4 2 3 3 6 3
1290 £RHT 1 2 4 4 2 3 2 0 3 1
1300 % ZEHT 2 4 3 5 2 3 1 3 5 4
1310 RJLHT 2 0 0 2 1 1 3 2 1 0
9999 XHEMX &t 134 127 115 140 121 121 150 136 157 137
1510 #EHN BT 8 12 8 8 12 11 10 10 7 10
1520 }EHD T ET 17 13 15 13 7 14 9 9 5 6
1530 HEHNSTHT 2 5 3 4 3 6 2 3 6 1
1540 K123FHT 7 9 7 15 8 19 2 8 15 9
9999 HEMNI X ET 34 39 33 40 30 50 23 30 33 26
2010 = S5 HET 4 2 1 2 3 6 3 2 1 2
2020 % &7 6 2 5 6 5 7 7 11 6 5
2030 ET 0 0 0 0 0 0 0 0 0 0
2040 JET—TH 3 5 3 2 1 4 1 2 2 4
2050 ;MET=T H 6 3 5 4 1 1 2 2 2 3
2060 ¥5 i HET 2 0 0 0 0 1 0 0 0 0
2070 +RET—TH 2 8 3 0 1 3 4 7 3 6
2080 +RETZ_TH 2 3 4 2 2 0 0 2 0 3
2090 AT 23 23 22 17 26 17 15 23 11 20
2100 HibHET 2 6 7 9 4 3 4 5 1 2
2110 HEMNETET—T B 6 6 4 1 5 7 3 5 8 5
2120 HEWIETET—T B 2 4 6 7 7 2 7 4 8 8
9999 £ ERXET 58 62 60 50 55 51 46 63 42 58
2510 $AUEHET 53 30 35 29 19 31 37 41 24 32
2520 SKEEHT 28 34 25 23 24 19 27 16 20 26
2530 = /INERET 8 6 8 9 11 19 9 22 8 6
2540 Fi5HET 7 5 2 3 9 6 6 4 6 12
2550 ;HET 10 5 6 7 3 9 3 2 5 2
2560 = ST 15 20 15 10 13 24 11 17 17 15
2570 K EHT 0 2 2 2 0 1 0 0 0 1
9999 MAE X5 121 102 93 83 79 109 93 102 80 94
3010 KATHT 19 18 21 10 26 19 19 22 17 10
3020 ;@I HT 19 24 21 19 21 15 15 20 15 24
3030 L EFET 14 19 10 21 18 17 6 18 15 12
3040 B _EAT 1 4 8 3 5 3 6 3 4 1
3050 wy BRI A AT 33 37 57 43 53 58 58 46 63 38
3060 A ESTET 1 9 7 9 6 9 9 8 6 5
3070 tHBREHT 13 4 1 6 9 6 7 9 8 17
3080 H hHT 3 7 4 5 3 8 7 5 9 5
3090 A A EHT 9 8 13 4 6 10 7 10 9 3
3100 H e FGHET 5 11 9 14 9 15 5 8 12 12
3110 EHAILHET 4 4 5 5 7 5 5 8 1 9
9999 J\ T X &t 121 145 166 139 163 165 144 157 159 136
3510 £ R _EHT 2 1 4 1 3 2 1 1 2 4
3520 &R o 6 4 3 4 3 5 11 5 5 4
3530 2R THT 14 14 16 11 20 19 11 16 19 19
3540 Z= B KHT 4 7 8 9 4 3 3 7 5 6
3550 AEFHT 14 15 12 11 14 12 9 10 13 16
3560 &= T ERAT 8 3 2 5 4 4 6 1 5 4
3570 = T AT 9 15 15 12 20 12 14 23 15 13
3580 LI HET 15 12 10 12 7 8 9 10 15 13
3590 ;EMT 0 0 0 0 0 1 0 0 0 0



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH

[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TIRET (KF)2—K {TEHET (KF) 4
9999 S HKXET
4010 41| NET
4020 {ESHT
4030 15HET
4040 = HEAHT
4050 7K SHT
4060 EZZ HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FR KT
4100 g F0HT
4110 JbFFn@T
9999 &M XEtT
4510 AREE—ZHT
4520 EREE — ZFEHT
4530 AREE=ZHT
4540 EREEIUZEHET
4550 EREE FZEHT
4560 EREE/NFEHET
4570 EREE-HZHET
4580 AREE/\FHET
4590 EREE N ZEHT
4600 AR EE+ZEHT
4610 AREE+—ZBHT
4620 EREE+ —ZHHET
9999 ARERXET
5010 FAF0H HEHET
5020 FAF0BAEET
5030 RRF0R]{—HET
9999 AN XET
5510 b R ET
5520 = Hh T
5530 74 '= M7
5540 dy ZRT
5550 ERHT
9999 EHhARX &t
6010 FEIHET/MER
6020 [ZHT
6030 [ERTA I
6040 Bz FHT
6050 JI| AETE
6060 JI| BT FE
9999 FEERXET
6510 HZEAFBHET
6520 HZ A KIEHT
6530 B ZE AFHHET
6540 BZEALLUTHT
6550 B =AM Z NET
6560 HZ&=ALGILHT
6570 H R AIEFHT
6580 B ZAEHRT
6590 HZ= ATHET
6600 B Z A HHT
6610 H&XA L FHHET

207%
12
8

N

- A

NOOOWW—- = DNwWwWw-—-— 14— = =" DN—-=-0—- - 0NJWwWoOoOobuwuoooOoOutuTooa P —-=-DNOAALHOEWO === ogOoOoNwWN

28 228%
7170
7 7
0 1
3 6
4 5
1M 17
3 4
4 4
3 4
6 6
1 1
1 2
43 57
15 24
8 1
7 1
7 4
7 8
3 3
1 2
3 4
2 2
8 13
5 13
8 13
74 98
5 14
6 11
11 8
22 33
1 3
7 5
9 10
2 3
0 0
19 21
1 1
2 1
2 1
2 4
1 1
1 1
9 9
0 0
2 1
1 0
1 2
1 0
1 1
3 2
1 0
0 0
3 1
0 1

23 24i%

65
2

I
OO = W PO WWOW—-=O0OUNPPWMNWOLO

00 — —
© NN

© ©

O - 00—~ == DNOWOMNMNOO—~~— 000 O P~ AN O

75

o —

— OMNODMNO O -~DMNOWOMNOOO—OONNINNd_-"ADPhooOwWw-—=0MNMNMNOOWAAPAANNMNAA=LT I DN—~ OO0 — O

25i% 267%

66
4

w

N b

o0 —
O o000 oO - PMPOO—-UOWOW—-= = WN—-——©0O0OO0O—OMOOIINMPOPPooONOPPDPPPAPDdN~ O DPDPONOOJWODSZSWOO U

64
8

-
o

NWO -0 WWwooNJOOOoO TaaotTwNwWw-—

—y
o1 Ol

10
20
85

10
21

N

O O ON—-—O0OOMNN—-= DN~~~ = LCO—-0O0 — 0

27%  28i%
73 79
3 2
2 1
5 4
7 7
9 9
7 16
1 4
3 1
2 4
0 2
1 1
40 51
16 14
8 5
5 3
6 1
8 4
1 1
1 2
3 2
7 4
8 11
11 6
28 20
102 73
5 2
4 2
8 5
17 9
2 1
2 9
11 13
1 2
0 0
16 25
0 0
1 2
1 1
0 1
1 3
2 1
5 8
0 0
1 1
3 1
0 1
2 1
1 0
0 1
1 0
0 1
0 0
1 0

297%
79
3

N
N O NI WA W—LNWN—=-O—=0O0 WO

—_ ) —
© O d

106

- OO0 0O - 0O 00O NOWW-—-N—-—-0—



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

ARET (K a—F THRET(KF)& 208 21 22 23@ 24 25 26 27 28 29
6620 HZE A FGHET
6630 HER AT FHHT
6640 B &= A EitlT
6650 HZASHET
6660 HZ=A I RLET

9999 HEARKKET 1 1 1 1
7010 Z B MO HT
7020 — ELAHT

7030 — R FR#AET
7040 — B T KEFHT
7050 — R ¥7 H I ET
9999 — R&XET
8011 JRAHTFEERL
8012 YAHTFEERA
8013 IR AHTFERIL
8021 YRAHTZEKLY
8022 IR AHTIEKA
8023 R AHTZEKIE
8031 IRAHTH ALY
8032 {AETHAA
8033 IRAHTH AL
8041 IR AHTELIRL
8042 R AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIZ
8045 IR AHTALIR (X
8050 IR AHT A
8060 IR AHTFT
8070 RAHETER
8080 I AHT ki
8090 I AHT i E
8100 Y AHETH /IR
8110 3RAHTJI| 5k
8120 IR AHETEE"
8130 JRAHTH L
8140 IRABTEFRT
8150 IRAHTHFkK L

O - - NOOO0O O~ 000000000 O0OCDULLOLODOoO OO~ 0P~ 00—~NMNJOOO—~O0O

N O MO OO L O 0000000000000 O0ODO0ODOMNO A YJWNODOWPMOOO —O
OO MNMNMNOOOOOO - 000000 —~~00 00 = ONMNOWNMNMNDMNOWOOOODO
C_DLOO‘I@O—‘—*OOOOOO—‘OOOO—‘OOO—‘OOOO@—*CDON—*OOD@OOOOO
A NMNNOOOOOO 00O —-~00—~~000MNODO - = DN—-TO0OCO0O0UTU—=DN—-O0OO0OO0O0OOOo

CT OO O~ NOOODOO 00000000 —~~0 0O —~0WOPM—L0OO—~=-NMNOOO—~O
PO OO - N—-LO0O -0 —-N—- 000~ 000C0OC O —T0WOOOOOMNMMMNMNOOO —~O0OO

T OO OO OO OOMNOOOCOOCODODOLODOOMNOOD OO~ OPMMO—LONMN—~~OVOOOOOo

~No o -~ 0o oo-—~T0o0ooMOOOO T 0O0O T 0~ 0000O0 =0 WOOMNMNMNJOOO—~O0O

—_ —_ -
O OCT OO ONOOCODODOO0ODODWOOODODODODODODOLOLO 00D OoO L WONOONMWODLDOOO —~O0O

9999 AKX ET 12 1 1 1

9010 F THTREH 10 9 2 1

9020 FTHTEFEER 5 8 10 6 7 11 6

9030 FTHT#HZEH 25 22 14 16 14 26 17 22

9040 F THTHERH 20 23 17 26 24 20 23 20 30 26
9999 F T XEt 60 59 47 47 59 45 60 50 75 59
9110 SRET T Hik 10 9 12 8 8 10 5 11 6 9
9120 SFEETH L 3 6 8 7 5 6 2 6 5 6
9130 $RETH B 1 1 1 1 1 2 1 4 1 0
9140 SFEET T #F 5 4 5 6 3 8 11 9 4 7
9150 $EMET L £& 6 8 7 6 10 4 7 10 4 9
9160 SRHETER4T 8 9 14 3 12 14 6 14 10 10
9170 $ERTAH 8 23 10 12 1 18 12 21 22 12
9180 SRETER 11 11 8 8 4 9 6 8 10 6
9190 #ERTZ O 4 2 5 5 5 3 3 4 6 3
9200 $EHTEFIF 3 5 2 2 3 6 7 1 2 7
9210 $EET=H 5 10 11 7 6 4 6 6 6 5



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH

[R5.6.30IR7E JATIET & (KF) Al FE & A A O HHEH (&5
FIRET (KF)a—K {TERHET (KF) 4

9220 $HT M H
9230 SxET &M
9240 $RHETIEE
9250 $EETILHrith
9999 FFXXET
9310 R[FHET:AR
9320 R[ZHATIL
9330 R[ZHET/INE
9340 H[IZHTRY
9999 RGHXET
9410 RETT &
9420 RHETHE
9430 RHETERK
9440 RETAEF
9450 RETHEIR
9460 RET{—_HE
9470 RETER
9480 RHETHER
9999 RiXXEt
99999 &t

207%
12
13

4
15
108
2

OO OO W—-=000 — —

—_

13
1027

21 22i%
7 4
22 11
2 1
28 16
147 115
1 0

2 6
2 4
9 5
14 15
6 3

0 4

1 1

0 0

0 0

0 0

0 0

1 0

8 8
1104 1073

23 24i%
11 9
10 14

2 0
18 14
106 105
2 3
5 0
1 1
3 9
11 13
3 2
1 0
0 0
0 0
0 0
0 0
0 0
1 3
5 5
1003 1018

25i% 267%

1
11

7
8
1
0
0
3
3
0
3
9
3
2
0
0
0
0
0
0
5
7

104

104

13
7

2
28
116
1

4
1
2
8
0
0
0
0
0
0
0
1
1
1

27%  28i%
15 9
7 15

6 2
22 21
144 123
3 0
3 3
0 1
11 6
17 10
2 2

2 0

0 0

0 0

0 0

0 0

0 0

0 1
4 3
1078 1044

297%
5
17
3
14
113
2

2
1
2
7
2
0
1
0
0
0
0
0
3
2

103



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET (K a—F THRET(KF)& 30 31m 32 33m 34 357 36 37 38 39
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #¥3;THT
120 #A;TAHET
130 t&FHT
140 HEAE BT
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
630 FERT T B
9999 /\ & X5t
1010 S HET
1020 £ A HT
1030 H1 FrHT
1040 78 /T HT
1050 = HHET
1060 F _EHT
1070 7R ET
1080 & HHET
1090 HiEHRT
1100 EBiEHT
1110 fRIEMT
1120 #21E JTHT
1130 +5&HT
1140 FkJRET
1150 F/RET—T B
1160 #/RET—T B
1170 ;5 /KHET
1180 & ALET
1190 #&F AHT
1200 XFHEI—TH
1210 XFHEIZTH
1220 FHET
1230 #EHET
1240 ZEHT
1250 fEERT

—_
N WWO NGO WS~O

—_
—_
N
N
w
(DOO\IOCOOON\INO-&OOCOCHO‘I(D(DOQDOOBA\I-‘-‘OO)-‘COOCO
N
N
8
w

—_
—_

ON O - DA 20 dINNOWWOODOwOOOMANOAOPAWDNWO®

—_
(o)
— WNWOO - DU PLPOHDOOUTPL,O - WPAP,WOJWWOI —
©
00 - 00O NOOO OO NPA~ANIJTOJON®

—_—
—_
—_—
—_—

w (2]
GO PP = DNIJWL 00 WPARhTCTWOUOITOJOOWOO -0 WOoO WO = N — 0
(<]

w
WO PO —=W—-=OCWNNMNOUIOOMOOOOEIALANWONDMMOOIOWN —

wW (=2
NP OO WO - PRO - WUNPMPOYNOOOOOOOMOTWODRA = OCINNONMNNDMNOOG
(=23

w
AP WO PLA—-NO—=- == WUONWOUOOWUUOO O AN JOTOOOGN—

S ~
BAONO—==—==0IN—=JOO—=NUIOOOWMUI =N —=0OUT W= —=wowh
S ~
S ~
O NNOUIOUTIO =-NN—= W= IJJINJOOOONOOODWWNN-—=WNIN
S
oo
w
S
w

I
(&)}

(=2}
"
—_
~
N

—_ —_ = N = =
N DO OTO O O
—_ - —_ = = =
WMNOWOoOOo oo
—_ R QU G I (I Y
W OO PRON-—=-O
—_ —_ . N —
~N o0 O o1t o ~N ©
N R QU G I (I Gy
— 00Ol JO OO
—_ —_ =

~N © © W4 ©
N — —_ N =
NN OO WWw
—_ . N —m = =
O W wOWNONDNOGO
—_ = —_ NN =
© A d PO PDwWwoo
—_ et =1 a3 N = = .
0 N O 0 ol oo O

ol
w
o
N
N
N
w
ol
N

W= OO WWoToaoOoOoNOOoO—
= NN NWONWNW-—-=-NOOO
N WOOMNMO—-=-N-—-MOl—-0O0
OCWMNA~AN—OP~PWON-—=—O0O
WWNO—= = WUNMPMOOO =
A NN WWOO —-W—-0ON—-Ww
— = NN = 01 WO PA~A,OWNOOOW
GNP A= PEBN-=2DNNOMNDN
— AR OWON-=-DNOAO-="JINMNMNNO ==
GOIN—= W= DNWUTOHS~»WO -0



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET (K=FE)E 303 31/ 323 33m 34 35 36@ 37% 38 39

1260 B & 0 2 1 0 2 0 0 0 0 1
1270 EEHT 3 2 10 3 1 3 2 2 1 2
1280 ARAHET 3 3 3 2 4 2 3 3 6 7
1290 £RHT 3 4 0 3 1 0 3 3 4 3
1300 % ZEHT 3 5 2 1 2 5 0 4 4 2
1310 RJLHT 0 2 2 1 0 0 1 1 0 1
9999 XHEMX &t 161 151 134 166 155 149 154 169 181 197
1510 #EHN BT 14 14 13 11 13 20 15 14 19 15
1520 }EHD T ET 4 12 6 7 10 8 15 6 11 13
1530 HEHNSTHT 7 14 5 2 4 7 5 5 3 6
1540 K123FHT 7 10 11 6 8 12 10 5 8 11
9999 HEMNI X ET 32 50 35 26 35 47 45 30 41 45
2010 £ E AT 2 2 1 4 5 2 2 4 4 5
2020 % &7 6 3 1 8 4 4 7 3 13 8
2030 ET 0 0 2 0 1 2 0 0 0 0
2040 JET—TH 5 3 4 2 3 2 6 5 8 1
2050 ;MET=T H 3 2 4 1 1 1 5 4 5 5
2060 ¥5 i HET 0 1 0 1 0 0 0 2 0 1
2070 FxET—TH 1 4 2 7 6 3 3 7 7 7
2080 +RETZ_TH 6 2 1 2 1 6 6 2 3 2
2090 wy g ET 19 29 23 24 35 24 20 32 27 28
2100 HibHET 3 2 2 4 9 7 7 6 4 2
2110 HEMNETET—T B 6 4 6 5 4 4 4 5 6 6
2120 HEWNEETZTH 5 5 5 4 5 5 5 7 2 7
9999 EEXRXET 56 57 51 62 74 60 65 77 79 72
2510 $AUEHET 39 35 40 43 46 48 58 51 57 41
2520 SKEEHT 24 21 17 29 31 26 29 33 30 41
2530 = /INERET 11 10 9 12 14 12 15 10 8 10
2540 FHi5HT 5 5 8 7 7 10 8 6 5 3
2550 ;HET 4 3 4 7 5 11 5 3 6 7
2560 = ST 15 8 18 14 12 22 15 16 13 20
2570 K EHT 1 1 1 0 0 0 0 0 1 0
9999 MAE X5 99 83 97 112 115 129 130 119 120 122
3010 KATHT 15 9 11 14 16 17 10 26 25 17
3020 ;@I HT 22 25 19 17 14 21 26 19 33 20
3030 L EFET 11 17 12 20 12 16 17 20 23 11

3040 B _EAT
3050 THES AT

o
w—k
(&)]
o1 O
N
[, N
N
- N
)
o O
(8]
w
w
S

54 54 65 73 84

3060 B THET 13 6 3 8 7 6 9 6 10 5
3070 tHBREHT 9 7 3 13 7 11 5 10 11 7
3080 HHHHET 10 11 5 15 10 7 18 9 10 12
3090 H A EHET 9 11 6 6 11 13 18 12 11 14
3100 H A FHHET 8 11 14 12 8 12 9 11 22 14
3110 HepiLET 13 7 10 13 1 8 6 7 10 5
9999 J\ T X &t 174 159 132 161 161 170 175 186 231 193
3510 £/F FHT 1 2 3 1 2 4 1 1 1 3
3520 2R A HT 7 4 5 4 7 4 9 5 7 6
3530 2R THT 19 21 22 22 19 19 24 14 23 23
3540 Z= B KHT 7 6 1 6 7 1 5 3 3 2
3550 AEFHT 14 16 13 12 14 14 16 12 11 14
3560 &= T ERAT 1 1 1 5 2 5 7 5 4 7
3570 & T Ao 8 14 13 15 12 26 19 15 16 14
3580 LI HET 13 14 10 14 10 11 13 15 6 7

3590 EMT 1 0 0 0 0 0 0 0 0 0
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TIRET (KF)2—K {TEHET (KF) 4
9999 S HKXET
4010 41| NET
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6610 H&XA L FHHET

307%
71

- &

Y
NNO—=—OMNOOMDMNMNOOSOWANMNMNOTOPL,—O0I——ONOOUGOUUGOO 00O, dDD =" O0WLCWWLWOUNAIANN,PONMN—~OPPWODOO W=

© N

Mk 32i%

78
5

w

- W

oo —

OMNON—-NO—-OONOW—-—O0O0U —-~0O0NO—-WWONMNNOOWwW—O0OoPr~oOPhwowMNOODMRII—-0W—-DIDW—--WWL

68
4
1
0
2

10

10
2

N A~ O b

S
S

~ =

—_
OO0~~~ WO —-0O0MNMNO—~O -~ NP,MPWODO—OP,OowWPoNNNMNMNOTGTOOOOOOGDDWSA,DA,DON

33 34iF
79 73
1

1

2

3

4

12

5

5

7

0

0

40

—_—

~ —

OMNMNOOW—LWOOO - WWwW—-==N—- 0O0ONMNOMNMNOUOOQUUNdNPLDPPOODOODOOOOBEBANDIDUWOSODOMNMNOUON—=TDNW—LO—=DNW—==NDN

—_—

—_

O 00 0O~~~ N—-~DMNOCDO—-LWUN—- == 000MNMNOP~—="—"0ODMNMNLOWLJO—_O0O b= 2" BN

35 367%
84 94
5 3
1 1
3
2 1
6
10
6
2
3
5
1

S
>

o1l —

O - -0 = = = 00MNONJO—-AN—-—DN—- = wWTouNhN”—~~©O0 - -0 —-PhPbhhwu—_~WOPp—000LWWLWUOD

— O

U1 —

OO -~ 0000 W—- =0 - 0WUNP,AP,—=2 = 00O —-—NOWUETWOW—-OOOMNMNMNMNOOWWPAA--DNNOOP,LP,WNOGNOOOOO BADNW

37%  38iF
70 71
4 3
1 0
2 6
6 8
4 14
5 10
4 7
8 6
6
4
5
49

OO = —=ON—-ONW—-0OMNWO-NWODOININUUIOOOO PO OJWNDIE2NP,SMO PN~OOWDMO

- O

— —
O W= = =DNMNWMNMNIO—-~IPOOCOPA—-00WODOPWOTOIWOI—=00MNOOGOGO == 0WUNWWWULIO = b

39i%

~
(=2}

O O OO WMNDMNWAN—-0JWW—-W—-0—-000OWNPWOCITUDUAWNNMNO--NORL, -2 OCOWODE—-0W—-=NMWWL



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH

[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

THRET (KF)3—F {THRET(KF)%& 30
6620 HZE A FGHET
6630 HER AT FHHT
6640 B &= A EitlT
6650 B & ASRHET
6660 B Z A RLHET
9999 HEAKRRKXE
7010 Z RMOET
7020 — ELAHT
7030 — R FR#AET
7040 — B T KEFHT
7050 — R ¥7 H I ET
9999 — R XET
8011 JRAHTFEERL
8012 YAHTFEERA
8013 IR AHTFERIL
8021 YRAHTZEKLY
8022 IR AHTIEKA
8023 R AHTZEKIE
8031 IRAHTH ALY
8032 {AETHAA
8033 IRAHTH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIZ
8045 IR AHTALIR (X
8050 IR AHT A
8060 IR AHTFT
8070 RAHETER
8080 I AHT ki
8090 I AHTH;EE
8100 Y AHETH /IR
8110 3RAHTJI| 5k
8120 IR AHETEE"
8130 JRAHTH L
8140 IRABTEFRT
8150 IRAHTHFkK L
9999 AKX ET
9010 F THTREH
9020 FTHTEFEER
9030 FTHT#HZEH
9040 F THTHERH
9999 FT#XEt 55
9110 SRET T Hik
9120 SRETH L
9130 $EHTH S
9140 SRETT4F
9150 $RHT E&5
9160 SRHETER4T
9170 SRETAH
9180 $EHTEE
9190 $EET:Z O
9200 5% BT 75
9210 $EHETE H

—_

OCOMNO - = 0000 ONOO0ODODOO 0000000 —~-NMNOW®W—_OOWPMRWOO -0 =

N — —_
W o O

D Ol

— —
S AN JONODODN

Mk 32i%

—_—

TN OO~ 0000 O0DO0OOMNOOODO 0O —~0000WO—-0O00LONO—~WNWODOON —

I

~N W N
- N O

~

—_
HPADNOOTOTO O 00— W

—_

O - - 0 - 0000000 —~0 00 —~000DO0COCO =P —=-ANINN—-TO0O0 - WOOOO = =

—_

N N
© d

69

3% 34iF%

—_—

- 0O -~ 00~ 0~ 00000000000 —~~00~~WWOoOMNO OO~ 0000 O0OCO0O

—_ - — - —_ N N W = —_
Ol 01 —= = = NDNNOOTO WOoILwwdNO

O OO -~ 00000 WODO0ODO0ODO0ODODODODODO 0O —=-="=DNO—-=WOONWOONO D

w W —_
g o o1 —= O

—_ —_ [o'e)
O© J O NI O = 94

AN

35 367%

NGO ©O T 00000~ 0~ 00000000 —~~000C—~~WOoOO—~0WAMAN—OO—~ WO

0 W W
~N W WoOONDN

—_ o -
ST GaANDN OO —=O

O OMNOOOONO—-—- 00 —~000O0ONOO - == 00O0CO = =0 N—-=-0O0ON=DN

—_ -
DN DN

© W b
D = O 010 —= =

_ - -
~N A BADNDNO O

37 3I8iH%

O OMNOOOO OO OO~ 00—~ 00 ~~00 "= —-0000WLWPMWOOO =0 —

—_ -
0 O O

—_ = - - —_ O w N
NWONPD =0 pbhwoau

10

OO0~ 00— = - 000000 —~0—~~NMNOO -0 —-0O00WON—-=-DNWMNMNOO—~0OO

OMN W —- — =
N OO = = N = —

12

39i%

O -~ 000 o —~~0o0ON—T 000~ 0~ 00 WwWoO o - —==-0MNO—~~ONPMdMPMOoOOOOO

—_
0 b~ W

—_ = — 00N
NOOoWwJdINOAaN =

21



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET (K=FE)E 303 31/ 323 33m 34 35 36@ 37% 38 39

9220 SEMETHH 9 8 12 13 14 7 8 13 7 14
9230 SxET &M 13 12 14 9 16 15 12 21 13 14
9240 SEETIE K 5 2 6 4 6 7 6 3 3 8
9250 $EETILHrith 12 11 15 16 20 21 12 11 11 19
9999 fERIX &t 116 100 129 122 127 134 121 146 129 155
9310 R[FHET:AR 3 0 1 1 2 1 2 1 2 0
9320 FFHATIL 3 2 2 0 1 4 1 3 3
9330 H[SHET/INE 0 2 0 2 1 1 7 1 3 1
9340 R [ZHTRY 3 3 2 3 7 2 6 9 8 4
9999 H[G#XEt 7 8 5 8 10 5 19 12 16 8
9410 RET T & 4 2 2 1 2 5 6 4 5 6
9420 RHETHE 3 1 0 3 0 1 2 1 1 2
9430 RHETERK 0 1 1 0 1 1 2 0 0 0
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RETHEIR 0 0 1 1 0 0 0 0 0 0
9460 RET{—_HE 0 0 0 1 0 0 0 0 0 0
9470 RETER 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 1 0 0 0 0 0 1 0 0 0
9999 RiXXEt 8 4 4 6 3 7 11 5 6 8
99999 H&Et 1114 1055 1017 1088 1139 1172 1207 1246 1308 1288
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

10 tHHT 3 3 1 3 4 3 3 7 4 7
20 fE&LET 2 5 5 7 4 5 5 3 3 2
30 @M 3 3 4 4 3 5 5 3 4 4
40 SRET 1 0 1 1 2 0 2 3 3 6
50 KET—T B 10 5 1 0 5 3 0 1 7 4
60 KET=TH 6 6 5 14 3 6 8 3 9 7
70 RET=TH 7 4 6 4 2 9 3 10 6 6
80 AT IEHET 1 2 1 4 0 2 4 3 1 2
90 PN I ET 5 5 2 0 1 7 3 2 4 7
100 b ALET 0 1 5 4 2 7 2 4 6 4
110 ¥ THT 36 35 25 32 27 28 45 41 37 44
120 ¥A;TAHT 3 3 8 7 6 13 4 6 7 9
130 #&FHT 5 8 6 7 9 10 16 13 8 15
140 EH[E M7 0 0 0 0 0 1 1 0 0 0
150 1 FFrHET 8 7 11 13 7 13 9 9 8 10
9999 KB XEt 90 87 81 100 75 112 110 108 107 127
510 AETHT B 5 7 11 8 11 15 10 9 10 14
520 HpEEMT 2 5 1 2 3 3 2 4 8 8
530 /\F&EHET 2 4 2 6 4 6 4 7 5 6
540 15 EHT 6 12 10 6 8 15 10 10 11 11
550 FithET 6 2 11 3 8 4 11 12 12 7
560 = ZLHT 0 2 2 0 2 0 0 6 2 0
570 & EHT 1 1 3 0 2 1 4 0 2 1
580 #rBHET 1 1 2 4 1 2 4 3 5 4
590 FriEMT 1 0 1 1 2 0 0 0 1 0
600 ZEARET 22 12 9 10 22 13 12 8 15 13
610 &M 3 7 4 2 7 5 3 8 2 3
630 ¥TERTZTH 0 0 0 0 0 0 0 1 0 0
9999 /\ KX &t 49 53 56 42 70 64 60 68 73 67
1010 R HT 5 8 3 4 6 1 2 2 7 4
1020 k£ A HT 7 9 6 8 11 10 14 8 5 5
1030 b /T HT 11 5 8 15 13 13 10 10 11 8
1040 75 T HT 16 17 12 10 9 12 7 3 7 18
1050 £ FHHET 18 22 15 9 20 22 24 18 13 18
1060 F _EHT 11 15 15 13 16 18 17 19 12 14
1070 YR HET 10 10 14 17 17 24 7 13 29 12
1080 & HHET 8 9 10 6 10 7 16 8 9 12
1090 BiEHT 12 9 13 12 10 14 18 10 19 9
1100 L BEHT 20 14 19 15 17 15 11 22 21 10
1110 $Z1EHET 5 1 3 4 3 3 2 5 4 3
1120 #21E JTHT 1 0 1 2 1 5 0 0 2
1130 +5:HT 1 0 0 0 0 0 2 0 2 0
1140 FkJR=HET 1 0 1 0 0 0 0 0 1 0
1150 #JRET—TH 3 5 2 1 5 6 3 2 3 9
1160 #/RET—T B 1 4 4 10 2 4 5 3 5 7
1170 ;5 /KHET 3 3 4 3 10 4 3 6 3 4
1180 & ALET 3 4 2 6 5 5 5 2 7 6
1190 ¥ F AHET 4 6 0 6 1 4 4 4 6 7
1200 XFHEI—TH 3 4 2 2 1 5 3 1 4 2
1210 XFHEIZTH 6 4 3 3 5 2 7 10 3 4
1220 #THET 4 2 2 5 1 6 3 4 2 3
1230 #EHET 5 3 3 3 4 3 4 4 1 4
1240 ZEHT 1 0 4 1 5 2 2 3 6 4
1250 fEERT 1 6 6 1 5 2 1 4 1 5
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET (KEFE)R 405 413 42k 43 445 45m 46k 47 48  49%

1260 JEHR & 0 2 0 2 0 1 0 0 0 2
1270 EEHT 0 2 1 3 3 0 5 6 3 5
1280 R4 HT 3 2 6 2 4 1 6 3 2 3
1290 £RHT 6 6 5 4 6 1 6 5 13 5
1300 % ZEHT 2 5 3 1 5 1 4 2 3 2
1310 RJLHT 2 0 0 1 1 2 2 1 0 2
9999 XHEMX &t 173 177 167 169 196 193 193 178 203 189
1510 #EHN BT 1 6 13 17 22 24 18 18 13 19
1520 }EHD T ET 10 15 16 12 22 15 15 27 23 22
1530 HEHNSTHT 3 4 3 4 4 6 9 8 9 5
1540 K1ZFHT 9 10 9 13 14 9 9 12 16 16
9999 HEMNI X ET 33 35 41 46 62 54 51 65 61 62
2010 = S5 HET 6 5 3 6 4 12 5 5 7 4
2020 % &7 13 10 3 5 5 9 8 7 10 11
2030 ET 0 0 0 0 0 0 0 0 1 1
2040 JET—TH 7 3 3 3 3 4 6 6 7 5
2050 BETZ=THB 4 5 6 6 2 5 2 5 4 3
2060 ¥5 i HET 1 0 1 2 1 3 1 1 1 0
2070 +RET—TH 2 8 3 6 8 3 5 1 2 3
2080 +RETZ_TH 5 5 2 5 4 8 2 5 5 6
2090 wy g ET 39 47 48 27 30 38 37 42 38 41
2100 HibHET 7 11 10 6 1 13 6 12 7 7
2110 HEMNETET—T B 3 1 5 7 5 8 6 8 5 5
2120 HEWIETET—T B 8 7 6 10 8 11 10 7 5 12
9999 EEXRXET 95 102 90 83 81 114 88 99 92 98
2510 $AUEHET 34 58 50 49 71 64 55 82 75 72
2520 SKEEHT 38 42 43 32 49 35 48 47 34 32
2530 = /INERET 9 8 5 10 9 7 9 1 8 9
2540 FHi5HT 3 9 7 5 12 7 6 7 1 8
2550 ;HET 4 9 2 4 5 4 5 6 7 1
2560 = ST 25 30 18 21 21 22 22 26 27 20
2570 K EHT 3 0 3 1 6 5 2 1 4 2
9999 MAE X5 116 156 128 122 173 144 147 170 166 144
3010 KATHT 19 28 24 32 30 26 26 26 26 36
3020 ;@I HT 27 26 25 14 19 26 32 25 29 35
3030 L EFET 20 18 18 18 18 28 22 24 16 28
3040 B _EAT 4 4 0 0 4 6 3 3 3 5
3050 wy BRI A AT 61 65 78 53 59 43 67 61 69 72
3060 THESTHT 9 14 13 9 12 8 10 10 10 6
3070 tHBREHT 10 16 10 11 12 7 12 16 15 13
3080 H AT 18 14 12 12 13 12 9 11 12 15
3090 H A EHET 9 10 14 12 16 8 11 15 15 8
3100 H A FHHET 13 9 13 11 7 13 14 13 16 11
3110 EHAILHET 8 16 3 8 7 11 10 11 15 12
9999 J\ T X &t 198 220 210 180 197 188 216 215 226 241
3510 £/F FHT 3 1 1 3 1 3 1 4 6 6
3520 2 R AT 5 8 7 4 5 6 7 8 7 10
3530 2R THT 23 32 24 27 24 21 11 20 30 26
3540 Z= B KHT 3 2 5 10 7 9 14 7 11 10
3550 AEFHT 20 13 19 18 22 21 26 20 21 21
3560 &= T ERAT 5 4 6 6 3 4 8 3 6 9
3570 = T AT 9 19 20 16 16 18 9 19 17 20
3580 LI HET 12 8 14 14 8 10 18 16 18 12

3590 EMT 0 0 0 0 0 0 0 0 0 0
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET (KEFE)R 405 413 42k 43 445 45m 46k 47 48  49%
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4610 AREE+—ZBHT

4620 EREE+ —ZHHET

9999 ARERXET 4
5010 FAF0H HEHET

5020 FAF0BAEET
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9999 RRFIMXET 1
5510 b R ET

5520 = HhET

5530 74 '= M7
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9999 E it X &t 2
6010 FEIHET/MER

6020 [EHT &

6030 [ERTA I

6040 iz FHET
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6060 JI| BT FE

9999 FEERXET 1
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6540 BZEALLUTHT

6550 B =AM Z NET
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6580 B ZAEHRT
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6610 H&XA L FHHET
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4030 i5HT 0 4 3 3 5
4040 = HEAHT 1 6 2 8 5
4050 7K SHT 10 12 1 5 8 1 12
4060 ES 4 HHET 10 10 10 11 1 10
4070 Jt/RHET 6 3 1 6 4
4080 =;I;HAMT 4 6 2 3 2
4090 FRERHT 2 9 1 1
4100 FgFEFOET 6 2
4110 JbFFOET 4 4
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

10 tHHT 3 0 3 7 5 4 5 7 5 5
20 fE&LET 3 6 5 4 3 5 2 3 6 2
30 @M 5 2 10 10 2 4 2 4 3 6
40 SRET 3 4 3 1 2 4 0 2 1 0
50 KET—T B 9 8 9 8 8 8 5 2 2 7
60 KET=TH 6 5 10 5 9 4 3 3 2 4
70 RET=TH 8 8 9 12 11 14 7 8 12 10
80 AT IEHET 2 3 3 1 5 2 2 3 4 3
90 PN I ET 2 1 1 5 5 2 7 7 4 5
100 b ALET 4 4 4 4 7 1 3 1 4 3
110 ¥ THT 38 37 32 35 33 46 33 22 40 29
120 ¥A;TAHT 11 7 8 4 4 6 5 7 1 5
130 #&FHT 15 13 14 10 10 9 7 13 1 11
140 EH[E M7 0 0 0 0 1 0 0 0 0 0
150 1 FFrHET 11 13 11 7 7 9 9 10 11 9
9999 KB XEt 120 111 122 113 112 118 90 92 106 99
510 AETHT B 9 7 10 13 8 6 9 8 5 9
520 HpEEMT 5 6 4 5 3 0 3 2 1 0
530 J\It&HET 4 5 4 1 3 2 3 6 6 3
540 15 EHT 19 11 10 7 12 18 18 8 18 14
550 FithET 14 11 16 11 10 16 4 11 14 11
560 = ZLHT 2 1 1 3 2 2 2 2 2 4
570 EEHT 4 1 2 1 1 1 0 2 1 3
580 #rBHET 3 5 5 0 1 1 3 5 5 1
590 FriEMT 1 0 1 3 2 2 1 0 0 1
600 ZEARET 11 14 15 15 11 17 12 16 17 12
610 MET 6 5 1 1 2 4 0 3 5 4
630 ¥TERTZTH 0 0 0 1 1 1 0 0 0 0
9999 J\ (K& XEt 78 66 69 61 56 70 55 63 74 62
1010 R HT 9 5 3 7 12 5 5 4 5 10
1020 £ FHET 9 9 11 6 8 7 7 5 1 6
1030 H1 FrHT 13 5 7 1 7 6 10 3 4 8
1040 &5 HT 14 8 14 5 14 9 13 10 13 16
1050 £ FHHET 22 12 17 18 32 15 17 14 15 11
1060 F _EHT 20 17 19 16 15 11 16 10 23 18
1070 YR HET 13 14 21 15 17 15 20 13 16 10
1080 & HHET 9 17 11 13 22 16 11 9 12 20
1090 BiEHT 10 10 14 15 15 15 16 19 13 8
1100 L BEHT 15 15 16 14 10 9 15 10 13 12
1110 $Z1EHET 1 5 6 4 4 3 1 0 1 5
1120 #21E JTHT 2 2 1 1 2 1 1 0 2 2
1130 +5:HT 0 1 1 0 0 1 0 0 0 0
1140 FkJRET 0 2 0 1 1 0 0 0 0 1
1150 #JRET—TH 1 4 5 2 7 2 8 4 9 0
1160 #/RET—T B 10 6 2 10 5 4 8 4 6 10
1170 ;5 /KHET 5 1 6 4 6 7 3 2 9 4
1180 & ALET 5 4 4 5 8 6 4 5 7 3
1190 ¥ F AHET 3 2 5 6 1 8 7 1 3 3
1200 XFHEI—TH 3 5 4 5 1 6 2 4 6 0
1210 XFHEIZTH 2 4 1 4 2 2 5 5 6 5
1220 T 8 4 3 4 5 4 4 4 6 5
1230 #EHET 1 5 1 3 6 7 5 3 7 7
1240 EZEHT 5 2 3 5 2 1 4 4 1 2
1250 fEERT 4 7 3 2 5 4 6 1 2 5
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1260 ABEFR 3@ 0 1 1 0 1 0 0 1 0 2
1270 EEHT 1 5 2 2 0 3 2 2 1 4
1280 ARAHET 7 8 5 3 4 6 1 1 6 6
1290 £RHT 5 3 5 5 5 5 3 6 7 5
1300 % ZEHT 1 1 5 2 3 2 1 5 4 5
1310 RJLHT 2 5 2 0 3 2 6 2 0 2
9999 XHEMX &t 200 189 198 178 223 182 201 151 208 195
1510 #EHN BT 19 21 12 21 13 16 15 17 25 21
1520 HEHITET 13 19 18 20 14 22 16 19 17 11
1530 HEHNSTHT 12 10 5 2 6 9 10 5 10 12
1540 K1ZFHT 21 10 11 14 19 9 16 11 8 23
9999 HEMNI X ET 65 60 46 57 52 56 57 52 60 67
2010 EE&HT 3 3 8 6 6 7 8 4 4 5
2020 % &7 10 8 10 8 6 8 8 7 5 5
2030 ET 1 0 0 0 1 0 0 0 0 0
2040 HMEBET—T B 6 6 10 9 8 4 2 7 11 5
2050 BETZ=THB 6 3 4 7 3 7 9 3 9 3
2060 ¥5 i HET 1 0 0 1 1 0 0 1 1 0
2070 +RET—TH 8 7 12 4 7 7 2 7 5 10
2080 +RETZ_TH 5 9 2 6 4 7 7 3 5 5
2090 wy g ET 42 43 46 34 40 33 38 27 43 34
2100 HibHET 4 5 5 10 5 6 2 5 2 7
2110 HEMNETET—T B 4 10 4 5 8 11 6 10 8 11
2120 HEWIETET—T B 3 7 16 11 5 5 4 7 11 7
9999 = B XEt 93 101 117 101 94 95 86 81 104 92
2510 $AUEHET 52 63 66 49 48 52 57 36 54 49
2520 SKEEHT 42 33 41 31 51 48 34 38 39 37
2530 = /INERET 12 13 10 15 13 10 14 13 6 10
2540 FHi5HT 1 7 13 11 16 9 5 13 15 10
2550 ;HET 4 4 5 2 4 6 14 8 4 6
2560 = ST 24 29 26 19 21 27 16 31 27 21
2570 K EHT 1 1 1 2 1 2 1 0 1 2
9999 MAE X5 146 150 162 129 154 154 141 139 146 135
3010 KATHT 31 18 23 32 19 22 26 24 23 20
3020 ;@I HT 24 35 31 22 24 39 22 24 27 24
3030 L EFET 25 36 28 24 19 20 31 21 26 28
3040 B _EAT 4 1 7 5 7 6 8 2 1 6
3050 wy BRI A AT 60 55 57 48 59 66 53 62 78 41
3060 B THET 13 10 12 14 14 12 10 20 13 10
3070 tHBREHT 10 8 10 14 14 13 13 13 16 10
3080 H AT 13 12 14 7 15 7 7 8 9 13
3090 H A EHET 11 11 10 13 8 7 13 4 7 9
3100 H A FHHET 17 16 15 11 9 15 16 15 6 19
3110 HepiLET 13 5 13 11 6 15 7 12 16 10
9999 J\ T X &t 221 207 220 201 194 222 206 205 222 190
3510 £/F FHT 7 1 1 3 0 6 6 4 8 14
3520 2 R AT 11 9 12 11 8 15 2 12 8 8
3530 2R THT 24 39 36 30 26 18 22 19 24 27
3540 Z= B KHT 14 13 8 9 8 14 9 5 17 8
3550 AEFHT 25 13 15 14 17 18 25 24 15 22
3560 &= T ERAT 12 8 3 8 4 8 5 10 2 3
3570 = T AT 18 26 18 29 11 28 27 17 15 17
3580 LI HET 14 20 13 13 17 9 17 14 1 18

3590 EMT 1 0 1 0 0 0 0 0 1 1
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9120 SFEETH L 6 5 3 3 4 5 7 9 9 9
9130 $RETH B 3 1 4 4 4 3 6 6 2 1
9140 SRET T+t 12 5 13 11 6 8 11 5 14 7
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

9220 SEMETHH 16 14 11 9 15 17 14 10 19 16
9230 SxET &M 18 21 10 13 13 14 16 16 16 21
9240 $EHETIE R 5 4 1 9 8 7 8 4 9 10
9250 $EETILHrith 15 6 17 10 13 13 7 10 11 19
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9410 RET T & 2 10 3 7 7 7 9 12 14 5
9420 RHETHE 5 1 5 5 7 3 4 4 3 5
9430 RHETERK 1 3 3 4 0 7 5 3 2 4
9440 RETAEF 0 0 0 0 0 1 0 1 0 0
9450 RETHEIR 0 0 0 0 0 0 0 0 2 0
9460 RET{—_HE 1 0 1 0 0 0 1 2 0 0
9470 RETER 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 2 4 1 2 1 1 0 1 3 3
9999 RiXXEt 11 18 13 18 15 19 19 23 24 17

99999 & &t 1581 1538 1529 1492 1482 1584 1501 1417 1598 1565
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1260 ABEFR 3@ 2 0 0 1 3 1 5 1 2 2
1270 EEHT 4 6 3 5 1 3 5 4 3 2
1280 ARAHET 4 6 0 2 2 2 3 5 7 4
1290 £RHT 0 5 3 4 3 7 5 5 7 3
1300 % ZEHT 5 2 3 5 4 0 1 3 4 1
1310 RJLHT 4 6 4 5 4 4 1 5 3 1
9999 XHEMX &t 199 230 187 213 217 203 196 210 223 194
1510 #EHN BT 13 16 14 19 19 27 14 21 20 22
1520 }EHD T ET 15 18 21 26 16 17 24 21 28 21
1530 HEHNSTHT 6 5 7 9 15 11 11 8 11 9
1540 K123FHT 11 7 15 15 13 27 12 18 19 23
9999 HEMNI X ET 45 46 57 69 63 82 61 68 78 75
2010 = S5 HET 2 3 7 5 4 0 3 7 3 3
2020 % &7 4 8 6 5 10 3 9 4 8 7
2030 ET 1 0 0 0 0 4 4 1 1 0
2040 JET—TH 5 6 3 4 6 5 7 3 4 3
2050 BETZ=THB 1 2 5 4 2 3 3 6 6 6
2060 ¥5 i HET 1 1 1 2 2 1 2 3 2 3
2070 +RET—TH 4 4 11 7 10 6 6 9 8 6
2080 +RETZ_TH 2 4 10 3 3 4 6 6 5 6
2090 wy g ET 32 45 46 39 42 39 61 58 58 56
2100 HibHET 5 5 5 6 7 4 2 10 11 7
2110 HEMNETET—T B 10 5 9 4 7 2 5 4 10 7
2120 HEWIETET—T B 9 5 3 5 13 11 7 9 12 12
9999 = B XEt 76 88 106 84 106 82 115 120 128 116
2510 $AUEHET 41 64 57 51 69 51 45 44 54 52
2520 SKEEHT 34 30 31 39 45 44 40 36 31 43
2530 = /INERET 9 15 12 16 9 8 9 13 14 10
2540 Fi5HET 16 16 11 12 9 14 13 11 13 15
2550 ;HET 5 3 5 9 8 10 7 14 6 6
2560 = ST 19 16 18 14 36 20 28 24 34 25
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET (K=FE)® 807 81/ 82k 83/ 84k 85/ 86k 87m 88k 89

1260 JEHR & 0 1 2 0 2 2 1 1 1 2
1270 EEHT 1 2 2 0 0 2 0 1 1 2
1280 ARAHET 2 4 5 7 2 2 3 3 5 4
1290 £RHT 3 5 5 5 2 3 3 1 3 0
1300 % ZEHT 3 5 5 2 1 1 3 4 6 2
1310 RJLHT 2 1 0 1 2 1 1 2 2 0
9999 XHEMX &t 160 151 155 130 109 125 126 136 127 79
1510 #EHN BT 17 25 17 9 1 11 11 14 13 7
1520 HEHITET 20 15 18 9 19 14 9 10 12 5
1530 HEHNSTHT 8 8 13 8 8 6 7 5 5 6
1540 K123FHT 11 14 12 6 16 7 17 6 7 12
9999 HEMNI X ET 56 62 60 32 54 38 44 35 37 30
2010 £ E AT 5 4 2 6 3 4 3 4 2 0
2020 % &7 8 2 6 2 5 2 2 0 1 7
2030 ET 1 0 1 0 0 0 1 0 0 0
2040 JET—TH 1 7 2 2 5 6 4 6 3 5
2050 ;MET=T H 4 6 3 3 5 7 3 4 7 2
2060 ¥5 i HET 3 2 0 0 0 0 1 1 0 0
2070 +RET—TH 4 11 6 2 4 5 6 4 3 1
2080 +RETZ_TH 2 3 6 6 7 5 5 3 1 2
2090 wy g ET 33 42 33 37 38 33 39 26 25 26
2100 HibHET 3 3 6 5 7 3 4 4 4 1
2110 HEMNETET—T B 9 6 3 9 3 4 4 4 3 1
2120 HEWIETET—T B 5 10 1 3 3 2 1 1 3 3
9999 EEXRXET 78 96 69 75 80 71 73 57 52 48
2510 $AUEHET 35 51 38 30 35 18 24 25 26 24
2520 SKEEHT 20 11 12 14 7 19 9 12 6 10
2530 = /INERET 4 7 8 9 6 7 7 3 2 4
2540 Fi5HET 13 16 15 11 5 9 9 9 4 6
2550 ;HET 4 4 4 5 9 2 5 6 3 2
2560 = ST 21 25 20 18 16 16 15 14 15 16
2570 K EHT 1 3 3 2 2 6 1 2 2 4
9999 MAE X5 98 117 100 89 80 77 70 71 58 66
3010 KATHT 18 34 27 24 8 14 14 16 12 17
3020 ;@I HT 14 20 16 17 11 18 13 11 10 9
3030 L EFET 20 13 14 8 12 14 10 5 9 2
3040 THEJ _EHT 5 5 5 1 5 4 1 3 1 5
3050 wy BRI A AT 41 39 29 38 27 31 22 20 32 14
3060 HEATHT 16 15 11 16 15 12 15 11 12 11
3070 tHBREHT 10 10 12 14 10 14 11 10 12 7
3080 H AT 7 11 6 3 2 2 6 2 3 1
3090 A A EHT 12 7 6 3 8 8 10 7 6 4
3100 H A FEHET 8 8 6 4 3 5 3 5 6 2
3110 HepiLET 18 8 9 5 4 5 6 4 1 5
9999 J\ T X &t 169 170 141 133 105 127 111 94 104 77
3510 £ R _EHT 3 3 7 7 4 12 5 4 3 4
3520 2R T 10 13 5 3 5 8 9 7 6 4
3530 2R THT 20 15 13 8 7 16 16 14 11 6
3540 Z= B KHT 14 8 13 10 7 6 5 8 5 5
3550 AEFHT 19 12 21 14 16 13 17 11 18 12
3560 &= T ERAT 7 4 9 4 3 8 6 2 5 4
3570 = T AT 24 13 17 15 11 15 15 9 10 9
3580 LI HET 10 8 11 14 8 7 10 5 2 9
3590 ;EMT 0 0 1 0 0 0 0 0 0 0
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET (K=FE)® 807 81/ 82k 83/ 84k 85/ 86k 87m 88k 89

9999 S HKXET 107 76 97 75 61 85 83 60 60 53
4010 41| NET 5 11 13 7 6 9 10 8 9 2
4020 {EESHT 4 5 3 2 4 1 1 1 1 3
4030 i5HT 5 9 6 2 4 3 4 6 3 6
4040 = HEAHT 7 3 3 7 5 5 4 6 2 2
4050 7K SHT 8 9 9 10 7 7 7 5 10 8
4060 ES 4 HHET 7 11 7 8 13 4 3 7 5 7
4070 Jt/RHET 2 4 3 4 1 2 2 4 5 2
4080 =;T;HAMT 3 4 4 4 10 4 7 2 3 5
4090 FRERHT 6 8 8 6 6 11 4 11 7 8
4100 FgFEFOET 1 2 1 3 1 2 2 4 2 5
4110 JbFFOET 1 2 0 1 2 0 2 2 2 10
9999 &M XEtT 49 68 57 54 59 48 46 56 49 58
4510 EREE—ZEHT 13 21 20 11 1 15 12 19 11 8
4520 EREE — ZFEHT 4 3 6 2 1 4 2 2 0 2
4530 EREE=FKHT 3 6 1 3 2 7 4 7 8 5
4540 EREEIUZEHET 3 4 7 2 4 5 5 2 2 1
4550 AREE R HHET 1 2 4 1 1 4 1 1 1 3
4560 EREE/NFEHET 1 2 0 0 0 3 1 2 2 2
4570 EREE-C AT 2 3 3 2 1 2 2 3 3 0
4580 AREE/\FHET 0 0 1 1 1 1 2 0 0 0
4590 BEREE N ZEHT 0 3 1 4 1 1 0 1 1 0
4600 AR EE+ZEHT 1 2 0 3 2 2 2 2 4 0
4610 EREE+—ZHHT 3 5 1 4 3 4 3 3 2 2
4620 AR+ —FFHET 3 3 6 3 1 0 7 3 4 6
9999 ARERXET 34 54 50 36 28 48 41 45 38 29
5010 FAF0H HERT 5 5 8 7 6 2 2 5 2 3
5020 FRFNBHELET 5 3 4 1 5 4 3 5 4 3
5030 FAFOME{—HT 4 4 1 7 6 6 7 4 4 0
9999 AN XET 14 12 13 15 17 12 12 14 10 6
5510 ) R ET 3 4 11 9 1 4 4 5 6 3
5520 = HhET 18 14 13 12 10 7 6 8 9 8
5530 75 = HT 14 6 12 10 9 15 11 12 4 10
5540 T EERT 6 10 14 8 2 11 4 4 2 3
5550 ERHT 2 3 2 1 2 2 2 1 4 1
9999 EHhARX &t 43 37 52 40 24 39 27 30 25 25
6010 FEIHET/MER 5 4 3 3 2 3 6 3 3 0
6020 [EHET o 1 2 3 6 1 5 7 2 3 3
6030 [ERTA I 2 1 3 3 4 0 3 1 5 1
6040 Bz FHT 2 6 3 5 4 4 4 6 1 1
6050 JI|FHATE 8 3 3 4 2 6 4 2 5 3
6060 JI|EHETF 1 1 3 5 2 1 0 0 2 0
9999 FEERXET 19 17 18 26 15 19 24 14 19 8
6510 HZEAFBHET 0 2 2 0 0 0 0 1 1 0
6520 B & A KIEHET 6 3 11 2 2 6 5 3 2 1
6530 HZEAFTHET 2 3 5 5 7 2 5 4 3 2
6540 BZEALLUTHT 10 11 4 8 3 4 7 4 4 6
6550 B =AM Z NET 0 5 4 2 2 2 5 1 2 3
6560 B ZALEdLHT 6 8 6 9 3 4 3 4 3 3
6570 H R AIEFHT 4 9 9 5 5 6 4 1 4 3
6580 B ZAEHRT 1 5 2 0 1 3 1 6 3 2
6590 HZ= ATHET 1 1 2 0 3 4 1 0 4 0
6600 B Z A HHT 3 3 2 1 2 0 2 1 3 3
6610 H&XA L FHHET 2 1 1 0 1 0 1 2 1 1
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8033 IRAHTH AL
8041 IR AHTELIRL
8042 R AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIZ
8045 IR AHTALIR (X
8050 IR AHT A
8060 IR AHTFT
8070 RAHETER
8080 I AHT ki
8090 I AHT i E
8100 Y AHETH /IR
8110 3RAHTJI| 5k
8120 IR AHETEE"
8130 JRAHTH L
8140 IRABTEFRT
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8150 IRAHTHFkK L 0

9999 AKX ET 50 52 38 54 6 44 53 62 40 5
9010 +THTKEH 16 20 13 13 1 13 1 11 7

9020 FTHTEFEER 7 8 10 8 6 7 7 9 6

9030 FTHT#HZEH 21 20 18 17 9 16 13 13 15

9040 F THTHERH 29 37 33 19 27 25 21 24 11 2
9999 F T XEt 73 85 74 57 53 61 52 57 39 44
9110 SRET T Hik 15 11 11 19 11 14 6 9 14 8
9120 SFEETH L 3 4 5 4 0 6 5 2 6 3
9130 $RETH B 6 5 5 0 5 3 5 2 1 3
9140 SFEET T #F 6 3 6 3 8 6 2 9 6 3
9150 $EMET L £& 14 12 14 8 12 8 8 2 7 9
9160 SRHETER4T 18 19 14 13 12 15 7 17 12 9
9170 $ERTAH 22 18 24 18 9 16 21 17 14 10
9180 SRETER 12 15 18 18 11 16 9 19 15 8
9190 #ERTZ O 9 5 5 7 5 3 6 3 5 2
9200 % HTFrIF 8 5 9 2 7 7 4 5 7 1
9210 $EET=H 4 8 14 12 4 8 5 9 6 4
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET (K=FE)® 807 81/ 82k 83/ 84k 85/ 86k 87m 88k 89

9220 SEMETHH 21 17 12 12 15 20 18 17 9 9
9230 SxET &M 13 14 14 7 14 14 5 15 16 5
9240 SEETIE K 8 7 8 6 8 2 7 9 5 9
9250 $EETILHrith 9 9 15 9 12 10 8 13 13 5
9999 fERIX &t 168 152 174 138 133 148 116 148 136 88
9310 R[FHET:AR 5 8 10 11 5 9 6 2 8 3
9320 FFHATIL 3 9 10 7 6 6 8 8 5 10
9330 H[SHET/INE 3 9 3 3 5 6 4 4 4 3
9340 H[5HETREY 10 14 17 16 11 15 10 4 8 7
9999 H[G#XEt 21 40 40 37 27 36 28 18 25 23
9410 RET T & 5 10 20 6 13 15 16 9 11 2
9420 RHETHE 9 4 13 10 10 10 9 7 7 5
9430 RHETERK 8 12 6 4 6 13 2 4 7
9440 RETAEF 1 0 0 1 0 0 0 0 2 0
9450 RETHEIR 0 1 1 0 0 1 1 2 0 1
9460 RET{—_HE 1 2 1 1 1 2 1 1 2 1
9470 RETER 0 0 1 0 0 0 0 0 0 0
9480 RHETHER 1 1 2 1 4 0 2 0 0 0
9999 RKXEt 25 30 44 23 34 41 33 21 26 16

99999 & &t 1361 1446 1387 1175 1079 1200 1113 1087 998 812
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

TRET(KF)a—FK {TEET(KEFE)R 905 91@ 923 93m 94 95 96F 97/ 98 997

10 tHHT 3 2 4 1 1 1 0 1 0 0
20 fE&LET 1 2 5 1 0 3 0 0 0 0
30 @M 2 5 3 3 5 2 2 1 0 0
40 SRET 3 4 2 1 2 0 0 1 0 0
50 KET—T B 4 1 0 3 3 2 1 1 0 1
60 KET=TH 1 0 1 0 0 2 1 0 1 0
70 RET=TH 4 4 3 3 2 3 4 1 0 0
80 AT IEHET 0 0 2 0 0 1 0 1 0 0
90 PN I ET 1 0 2 2 1 2 1 1 0 0
100 b ALET 0 2 2 1 0 1 0 0 0 0
110 #3THT 11 10 5 7 5 2 4 3 4 0
120 ¥A;TAHT 3 2 2 3 3 0 0 0 0 0
130 ¥ FHT 6 5 3 4 3 2 0 0 0 0
140 EH[E M7 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 1 0 0 3 1 0 0 0 0 0
9999 KB XEt 40 37 34 32 26 21 13 10 5 1
510 AETHT B 10 6 1 5 2 3 0 0 0 2
520 HpEEMT 1 0 1 3 0 1 0 0 0 0
530 /\fEHET 3 5 2 2 2 4 0 0 2 1
540 15 EHT 0 1 1 1 2 4 2 0 0 1
550 FithET 2 1 2 2 2 0 3 0 0 0
560 = ZLHT 1 1 3 0 0 1 0 1 1 0
570 EEHT 2 0 0 1 1 1 0 1 0 0
580 HrhHET 4 8 1 2 1 3 1 0 0 1
590 FriEMT 3 1 1 0 0 0 0 0 0 0
600 ZEARET 3 5 3 2 0 2 2 0 1 0
610 JEHT 3 3 3 1 0 0 2 2 0 0
630 ¥TERTZTH 0 0 0 0 0 0 0 0 0 0
9999 J\ (K& XEt 32 31 18 19 10 19 10 4 4 5
1010 R HT 1 1 1 3 0 0 0 1 0 1
1020 k£ A HT 6 0 2 3 3 2 0 2 1 0
1030 H1 FrHT 1 2 1 1 3 1 1 0 0 0
1040 75 T HT 11 4 0 1 2 4 2 2 2 0
1050 £ FHHET 9 6 5 5 3 0 1 0 0 0
1060 F _EHT 5 3 3 4 2 1 1 0 0 0
1070 7R ET 5 7 7 2 3 4 2 1 0 3
1080 & HHET 5 3 3 2 2 1 0 0 1 0
1090 BiEHT 4 7 6 6 2 3 4 0 2 0
1100 L BEHT 9 3 4 8 1 2 2 4 1 1
1110 $Z1EHET 2 1 0 2 1 1 0 0 0 0
1120 #21E JTHT 1 2 1 1 2 2 1 1 0 0
1130 +5:HT 0 1 0 0 0 0 1 0 0 0
1140 FkJR=HET 1 0 1 0 0 0 0 0 0 0
1150 #JRET—TH 2 4 4 1 1 1 0 0 0 1
1160 #/RET—T B 2 2 4 4 1 1 0 0 0 0
1170 ;5 /KHET 0 0 0 0 1 1 1 0 0 0
1180 EE&FLHET 3 3 4 1 2 2 0 1 0 0
1190 ¥ F AHET 3 0 1 1 0 2 0 1 3 1
1200 XFHEI—TH 1 1 0 2 1 1 1 1 0 0
1210 XFHEIZTH 0 4 2 1 0 1 2 1 0 1
1220 $HT 3 1 1 2 2 0 0 0 0 0
1230 #EHET 3 5 0 2 1 1 0 2 0 0
1240 ZEHT 1 3 2 1 1 1 0 0 0 0
1250 fEERT 2 1 0 2 1 0 0 0 0 0
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TRET(KF)a—FK {TEET(KEFE)R 905 91@ 923 93m 94 95 96F 97/ 98 997

1260 B & 0 0 0 0 0 0 0 0 0 0
1270 EEHT 3 2 2 0 0 2 1 0 0 0
1280 ARAHET 2 1 0 1 1 1 0 1 0 0
1290 £RHT 4 5 2 2 1 0 2 0 1 0
1300 % ZEHT 4 2 1 4 0 1 0 0 1 0
1310 RJLHT 0 2 0 0 0 0 0 0 0 0
9999 XHEMX &t 93 76 57 62 37 36 22 18 12 8
1510 #EHN BT 9 6 8 6 2 1 1 2 3 0
1520 }EHD T ET 7 5 5 2 3 3 0 2 2 0
1530 HEHNSTHT 3 9 2 1 1 1 0 2 0 1
1540 K123FHT 7 7 1 3 6 0 0 4 2 0
9999 HEMNI X ET 26 27 16 12 12 5 1 10 7 1
2010 £ E AT 0 3 0 3 0 0 0 0 0 0
2020 % &7 1 1 1 2 0 1 0 1 0 1
2030 ET 0 0 0 0 1 0 0 0 0 0
2040 JET—TH 5 0 0 3 4 0 0 0 0 0
2050 ;MET=T H 5 4 0 2 2 0 1 0 0 0
2060 ¥5 i HET 0 1 1 0 0 0 0 0 0 1
2070 FxET—TH 3 3 1 2 0 1 1 1 0 0
2080 +RETZ_TH 3 3 1 1 1 0 0 1 0 0
2090 wy g ET 21 20 20 14 10 2 4 6 5 6
2100 HibHET 2 2 0 0 0 1 2 3 0 0
2110 HEMNETET—T B 1 0 2 1 0 0 0 0 0 0
2120 HEWIETET—T B 1 2 2 3 1 1 1 0 0 0
9999 £ ERXET 42 39 28 31 19 6 9 12 5 8
2510 ¥AIGHET 12 13 7 12 5 8 7 1 3 1
2520 SKEEHT 12 8 5 4 3 1 2 0 2 1
2530 = /INERET 4 3 6 0 1 1 3 2 2 0
2540 Fi5HET 10 1 5 2 0 3 0 0 0 2
2550 ;HET 6 2 2 1 2 1 3 1 1 0
2560 = EHT 15 3 6 3 4 5 5 0 0 2
2570 K EHT 0 1 0 0 2 1 0 0 0 0
9999 MAE X5 59 31 31 22 17 20 20 4 8 6
3010 KATHT 9 15 4 6 6 6 3 1 0 1
3020 ;@I HT 9 2 3 3 4 3 1 5 0 0
3030 L EFET 8 4 2 1 5 2 1 0 1 1
3040 B _EAT 2 1 3 1 1 0 0 2 1 0
3050 wy BRI A AT 18 12 15 11 12 4 3 1 1 2
3060 A ESTET 10 6 1 2 2 1 0 2 4 1
3070 tHBREHT 9 4 3 1 3 1 3 1 1 0
3080 H AT 5 1 0 2 1 1 2 0 1 0
3090 FH R ERAT 3 3 1 1 0 0 3 0 1 1
3100 H e FGHET 2 4 1 1 1 0 1 0 0 0
3110 HepiLET 3 5 1 2 0 1 0 1 1 1
9999 J\ T X &t 78 57 34 31 35 19 17 13 11 7
3510 £ R _EHT 5 2 1 1 1 3 0 2 0 0
3520 &R o 8 8 4 0 2 2 4 0 1 1
3530 E[RTHT 9 11 10 2 9 4 0 0 0 2
3540 Z= B KHT 6 4 2 1 4 0 0 3 0 0
3550 AEFHT 3 7 12 5 4 4 1 4 0 0
3560 &= T ERAT 8 1 4 2 2 1 1 1 0 1
3570 & T Ao 7 4 1 5 2 1 2 2 0 1
3580 FLIFTHT 7 4 1 3 3 2 0 0 1 1
3590 ;EMT 2 1 0 1 1 1 1 0 1 1
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[R5.6.30IR7E 11T EHT & (K=F) Al F oI A O HHR (S5

THRET(KF)3—F {THRET(KF)& 90
9999 S HKXET 55
4010 41| NET
4020 {ESHT
4030 15HT
4040 = HEAHT
4050 7K SHT
4060 EZZ HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FR KT
4100 g F0HT
4110 JbFFn@T
9999 &M XEtT 3
4510 EREE—ZEHT
4520 AREE— ZEHT
4530 AREE=ZHT
4540 EREEIUZEHET
4550 EREE FZEHT
4560 EREE/NFEHET
4570 EREE-HZHET
4580 AREE/\FHET
4590 EREE N ZEHT
4600 AR EE+ZEHT
4610 AREE+—ZBHT
4620 EREE+ —ZHHET
9999 ARERXET 2
5010 FAF0H HEHET
5020 FAF0BAEET
5030 RRF0R]{—HET
9999 AN XET
5510 b R ET
5520 = Hh T 1
5530 74 '= M7
5540 dy ZRT
5550 ERHT
9999 = kX 5t 3
6010 FEIHET/MER
6020 [ZHT
6030 [ERTA I
6040 Bz FHT
6050 JI| AETE
6060 JI| BT FE
9999 FEERXET 2
6510 HZEAFBHET
6520 HZ A KIEHT
6530 B ZE AFHHET
6540 BZEALLUTHT
6550 B =AM Z NET
6560 HZ&=ALGILHT
6570 H R AIEFHT
6580 B ZAEHRT
6590 HZ= ATHET
6600 B Z A HHT
6610 H&XA L FHHET
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